The USA, 1890-1945
The USA, 1890-1920
Politics, Economy & Society
The USA had a clearly defined two-party system by 1890. The Republicans & The Democrats. Both parties were heavily influenced by the American Civil War, 1861-1865. In the early days, neither party was united. They were both loose coalitions linked together through interest groups. Local issues were extremely important. Any politician at national level had to have a strong power base and was therefore keen to represent local interests. This did not apply to only individuals; many issues that became important in national politics had their origins in local campaigns. One example of this is Prohibition. Partly because of local influences, there was no clear divide between the political left and right. Both parties had conservatives (those who wanted no change) and reformers (those who wanted change). Throughout the 1890’s both parties were developing. There were times when other political movements threatened to gain mass support, however, these other political movements never gained the same dominance that The Republicans & The Democrats had. Neither party supported the interests of African-Americans.
What did the Republicans stand for?
The Republicans were formed in 1854 as part of the anti-slavery movement. As time went on the party became increasingly pro-business but it did have a reformist wing that was influenced by progressivism. It promoted anti-trust laws, social justice and conservation. The leading figure was Theodore Roosevelt, he was Vice-President from 1901 and President from 1901-1909. In 1912, Roosevelt ran for President as a Progressive candidate against the Republican President William Taft. He set up his own political party called The Bull Moose Progressive Party; this split the Republican vote and handed the Presidency to Democrat, Woodrow Wilson. 
Who were the key Republicans?
· Mark Hanna – Political Analyst and ‘Mastermind’ of Republican Political Campaigns.
· Theodore Roosevelt – Vice-President from 1901, President from 91901-1909 & Leader of the Bull Moose Progressive Party. 
· William Taft – President 1908-1912.
· Warren G. Harding – President 1920-1923.
· Calvin Coolidge – President 1923-1924.
· Herbert Hoover – President 1924-1928.
What did the Democrats stand for?
The Democrats claimed to be the oldest political party in America, the Civil War Party. The Civil War changed the party. After the Civil War, the Democrats power base depended on western farmers and the white southerners. The ‘solid south’ voted Democrat in every Presidential election (1880-1960) except one in 1928. For much of their political life during these years they were the party of opposition.
Who were the key Democrats?
· William Jennings Bryan – Dominant Political Personality During The Opposition Years.
· Woodrow Wilson – President 1912-1920.
· Franklin D. Roosevelt – President 1928-1944.
Where did the immigrants come from?
By 1890, there were already 9 million foreign-born Americans; immigration however had not yet reached its peak. Most immigrants were from southern (Spain, Portugal Italy) and eastern Europe (Jews from Russian Empires). Previous immigrants had come from northern Europe (Britain, Ireland, Germany and Scandinavia). In 1882, of the 789,000 immigrants entering the USA over half came from Britain and Germany, while 32,000 came from Italy and 17,000 from Russia. 
Why did the immigrants come to America?
Many of the immigrants were lured to America by the dream of improving their lives. The growing US economy could offer jobs to the immigrants; many had employment within hours of arriving on American soil. Advances in new technology, such as the steam ship made journeys quicker than previously. Up until 1882 when undesirables such as criminals and the mentally ill were forbidden there were virtually no restrictions on immigration. Less than 1 in 50 immigrants were refused entry and sent home. Many immigrants moved to the USA to escape discrimination at home. In many countries in southern and eastern Europe, the arrival of cheap wheat along with the introduction of machinery from the USA destroyed many peasant economies.
During which period did immigration reach its peak?
During the period, 1900-1914, immigration reached its peak. The peak year 1907, saw 1,285,000 immigrants enter the USA. Of these, 11 times more came from Italy, Russia, and half as many came from Britain and France compared to 1882.
What impact did immigration have on American society?
The result of the massive emigration worried many Americans. They argued that immigrants from southern and eastern Europe did not embrace American culture as easily as their northern counterparts. They also brought with them ‘radical and dangerous’ political ideas such as communism and anarchism. Many feared that the immigrants would take their jobs and would work for lower wages. Others argued that they would overwhelm local population. Unlike earlier immigrants who went in search of land these new immigrants went in search of jobs in towns and cities. There were also fears after immigrants of similar ethnic areas began settling in areas together, the culture and language remained the same as the country of origin.  
One of the most important social issues affected by immigration was Prohibition. It had religious implications, as most new immigrants were Catholic. Many of the new immigrants came from societies where social drinking, especially by men, was a central part of social life. The revival of the KKK during and after WW1 had an impact on the lives of immigrants. Two million African-Americans migrated north in search of jobs but were often met with hostility and discrimination. Small-town America was worried about ‘alien’ influences undermining traditional moral and religious values.
The American economy had been booming before 1890, what factors led to this?
The USA was already a booming industrial power by 1890. The expansion of the USA’s economy was fuelled by:
· The huge increases in workers and markets that came with mass immigration; the labour force was always growing and the constructions industry was always booming.
·  The new technology enabled the growth of steamship companies and the mechanisation of industry. The invention of the steel plough, the refrigerated container and the expansion of the railways led to massive expansion of meat production for both the economy at home and abroad.
· The opening up of the Great Plains enabled the cultivation of fertile land and the production of huge surpluses.
The expansion of the American economy was marked by the growth of big business and the emergence of large industrial companies such as the Bethlehem Steel Corporation, the Carnegie Steel Company and John D. Rockefeller’s Standard Oil Company. Many of these companies merged to make vast enterprises linking manufacturing and railroads and shipping. There was also rapid expansion of banking and finance; J. P. Morgan was the most famous of the new breed of big financiers who provided the wealth for industrialisation. Sudden downturns in this uncontrolled economy often left farmers, small businesses and their workers worse for wear.
The rise of big business had a massive impact on politics. Industrialisation made the USA into an urban society and created powerful elite of wealthy barons. These men (Andrew Carnegie, John D. Rockefeller, Cornelius Vanderbilt and J. P. Morgan) were able to gain direct political influence, especially from within the Republican party. At the same time however, the creation of big business created a backlash of opposition. The emergence of a new mass labour force led to the spreading of socialist ideas and the organisation of labour into trade unions. 
What is the meaning of: Urbanisation, Industrialisation and Big Business?
Urbanisation: The creation of towns and cities.
Industrialisation: The creation factories in towns and cities.
Big Business: Large companies out to make large profits.
There were two key Trade Unions, the AFL & the IWW, who led them?
AFL: Led by Samuel Gompers
IWW: Led by Bill Haywood & Eugene Debs
What is the difference between the two Trade Unions?
One of the popular trade unions was the AFL – The American Federation of Labour – they were concerned with the welfare of skilled workers. It was founded by Samuel Gompers in 1886. Membership of the AFL was over 300,000. Gompers concentrated on improving working conditions of the skilled workers. One person Gompers did not want to associate with was the socialist leader Eugene Debs. In 1907, the AFL created strong links with the Democratic Party. However, many believed that the AFL was too moderate and did not support the unskilled workers. This led to the formation of the IWW.
Most Americans feared socialism; they linked it to trade unions, mass immigration and anarchy. Socialists believed in equality Big business leaders were afraid of organised labour; the growth of organised labour meant the growth of trade unions. The growth of trade unions meant an increase in the number of strikes. 
The IWW – Industrial Workers of the World – was founded in 1905 by “Big Bill” Haywood and Eugene Debs (however Debs had left the organisation by 1908) the IWW was known as “The Wobblies”. Membership was over 50,000. They openly endorsed socialist ideas and saw no barriers between workers and employers. There were also strong links between the IWW and anarchists such as Emma Goldman. Such links emphasized the divisions between those who wanted political actions and those who wanted action through strikes and boycotts. Big businesses and conservatives saw the IWW as alarmingly revolutionary especially during a wave of strikes that were accompanied by violence such as the McKee’s Rocks Strikes of 1912.
Employers often used the courts to overpower the “socialist threat” by creating injunctions against strikes and prosecuting socialist leaders. The IWW was attacked during the first world war for being unpatriotic and in 1919-20; it was a target of the “Red Scare”. The rise of political socialism never really matched the support for trade unions; even though socialist leader Eugene Debs was talented and respected, he could never break the two-party stereotype in politics.
Who were the leading Populists?
· William Jennings Bryan
What were the main beliefs of Populists?
Populism had a big influence on the Democratic party. When William Jennings Bryan emerged as a national figure in the 1890’s many people thought of Populism as swallowing the Democratic party. The Populist party was formed in 1889-90 based on support from the Great Plains and the south-west who opposed the dominance of the American economy by banks, big business and rich east-coast elites.
Populist ideas were set out in the Omaha Platform of 1892. ‘Silverlites’ campaigned for the mass circulation of silver coins. They campaigned for Prohibition. They were anti-Darwinists, anti-imperialist and anti-expansionist. The Populist party was overshadowed by William Jennings Bryan and the Democrats and after 1908 virtually went out of existence.
Who were the leading Progressives?
· Robert La Follette – Governor Of Wisconsin
What were the main beliefs of Progressives?
Robert La Follette, Governor of Wisconsin from 1901, until he became a senator in 1906 was the leader of the Progressive ‘insurgent’ Republicans. He campaigned for the rights of ordinary people and against big business. The ‘insurgents’ gained considerable support and cause a dispute with William Taft and the conservative ‘stalwarts’. He hoped to run for President in 1912 but was overshadowed by Theodore Roosevelt. In 1912, the Bull Moose Progressive Party was set up as a vehicle for Roosevelt to run for President against Taft. This split the Republican vote handing the Presidency to Woodrow Wilson.
Progressives believed in government intervention and that strong central authority was needed to bring about reforms and efficiency. They wanted to protect people’s rights against corruption. They also wanted to fight the evils of industrialisation but without going as far as socialism. They appealed for ‘social justice’ including causes such as women’s suffrage, direct election to the senate and conservation. Some Progressives were pacifists and anti-imperialists but most were strong nationalists. The Progressive wing of the Republican party reunited with the mainstream party in 1916. Progressivism achieved very little as a separate party but at one time, it seemed that it could achieve national support. It was very influential between 1890-1929, as a number of presidents were influenced by Progressive ideas, these included: Theodore Roosevelt, William Taft and Woodrow Wilson. Whilst they were in office, we can see some Progressive ideas in their policies.
How important was Populism and Progressivism?
Progressives believed in government intervention and that strong central authority was needed to bring about reforms and efficiency. They wanted to protect people’s rights against corruption. They also wanted to fight the evils of industrialisation but without going as far as socialism. They appealed for ‘social justice’ including causes such as women’s suffrage, direct election to the senate and conservation. Some Progressives were pacifists and anti-imperialists but most were strong nationalists. The Progressive wing of the Republican party reunited with the mainstream party in 1916. Progressivism achieved very little as a separate party but at one time, it seemed that it could achieve national support. It was very influential between 1890-1929, as a number of presidents were influenced by Progressive ideas, these included: Theodore Roosevelt, William Taft and Woodrow Wilson. Whilst they were in office, we can see some Progressive ideas in their policies.

The USA & The World
Why did American foreign policy become more expansionist after 1890?
Before 1890, America’s foreign policy was defensive and inward looking. By after 1890 there was the growth of big business, mass immigration and industrialisation. There was change in foreign policy towards, trade which American wished to protect and develop, an increase in money which was due to rapid economic growth and, security not just that of America but of certain other countries. We see the change in trade with the building of the Panama Canal and the Spanish-American War and security with the annexation of land such as Hawaii and the Philippines.
After 1890, America’s foreign policy was imperialist which would give them larger influence and power and a greater empire. There was also rapid naval expansion, because some believed that naval power was important. By 1900, America had the third largest navy in the world – after Britain and Germany. There were also ideas of racial and cultural superiority; America was on a civilising mission, using the idea of ‘Manifest Destiny’, an idea that it was the destiny and God-given right of the Americans to expand westward. There was influence of imperialist ideologies. There was also the influence of Senator Henry Cabot Lodge, Alfred Thayer Mahan and Theodore Roosevelt.
Where do we see evidence of this expansionism?
We see the evidence of America’s expansion in the Spanish-American War in Cuba, the annexation of Hawaii and the Philippines, the Open Door Policy in China, the Platt Amendment, and the Alaska Boundary Dispute, the building of the Panama Canal, the Roosevelt Corollary and Taft’s Dollar Diplomacy. 
Why did America intervene in Cuba and the Philippines, what was the outcome?
Cuba was part of Spain's empire. Cuba’s economy depended on the exportation of tobacco and sugar to American markets. Spain wanted to take complete control of Cuba but America did not want this. The Cubans were revolting against Spanish rule; the Spanish however, crushed the Cubans revolt using violence. The Cubans wanted American intervention but America had no reason to intervene until the USS Maine that was docked in Havana, Cuba was blown up. The media found out and the ‘Yellow Press’ became involved. Big business leaders and politicians supported the press campaign. The USA navy led by Theodore Roosevelt then took control of Cuba; the USA achieved a swift victory. Theodore Roosevelt became a national hero thanks to his exploits as a rough rider. The Treaty Of Paris saw Cuba remain under American military rule until 1902.
America annexed many other Spanish colonies in the Caribbean and the Pacific including: Puerto Rico, Guam and the Philippine Islands. All virtually became American colonies. The previously independent islands of Hawaii were annexed because of their importance as a naval base.
Like the Cubans, the Filipinos campaigned for independence from Spanish control. The leader of the Filipino campaign was Emilio Aguinaldo, he organised a rebel force and was the one who cooperated with Admiral Dewey. Dewey’s fleet sailed into Manila Bay and destroyed the outdated Spanish fleet. American land troops finished off what the navy had started and established military control. It soon became clear that independence that America had promised the Filipinos was not going to happen. A Filipino revolt broke out which was not brought under control until decisive military action was taken in 1902. At home in the USA, the annexation of the Philippines was controversial; many believed that it was a betrayal of the freedom and equality principles. The anti-imperialist league attacked the government for deserting the anti-colonial traditional of the Founding Fathers. They criticised the use of violence and racial prejudice that had been shown by the Americans in their treatment of their ‘little brown brothers’ as they had established control. 
President William McKinley and other leading politicians argued that they had not been motivated by greedy imperialism but by a ‘civilising mission’ to aid the development of less advanced cultures. However, what they said in private was different to what they said in public. There is no doubt that the events in Cuba and the Philippines were deliberately manipulated to bring about American domination and to create support for interventionist policies.
Issues in the pacific, China and Japan became much more important to America after the Spanish-American War. The far east was seen as an area vital for American expansion. There were also concerns about the Japanese empire and European intervention in China. America’s main policy was the ‘Open Door Policy’ its aim was to keep China from colonial rule. The USA was keen to see free trade in China and avoid China being taken over by European powers. America sent in troops to break up a revolt in China. They believed that China would be split between European powers and America would not have control. 
Where do you see Theodore Roosevelt’s influence in foreign policy?
In 1901, congress passed the Platt Amendment that gave America the power to intervene in Cuba’s international and domestic affairs. In 1903, America and Canada settled the Alaska boundary dispute in the favour of the USA. this was a key example of Roosevelt’s assertive approach to foreign policy. Also in 1903, Roosevelt pushed through his most significant achievement, The Panama Canal. Roosevelt supported the uprising of the Panamanians in order to create a new republic of Panama from Columbia. In 1904, Roosevelt wrote down all his ideas in the Roosevelt Corollary, which was sent to the Monroe Doctrine. This stated that America had the power to intervene in Latin America in cases of wrongdoing. In 1905, Roosevelt took a leading role in the international response to the Morocco Crisis. He also offered American negotiation in the Russian-Japanese War, which was shown in the Treaty Of Portsmouth, New Hampshire in October 1905. At the same time, Roosevelt gained great international prestige and ensured that Japan would not make excessive gains from military victory over Russia.  The rise of the Japanese power was already seen as a threat to American interests in the pacific. Even after William Taft won the Republican nomination in 1908, Roosevelt continued to have a massive influence on American foreign policy.
What was the Open Door Policy and where do you see it in action?
The Open Door Policy was created in order to stop European powers dividing China and allowing free trade.
What was Dollar Diplomacy and where do you see it in action?
Dollar Diplomacy was using America’s financial power in secure economic domination in Latin America and China. When Woodrow Wilson became President, the first thing he did was to renounce Dollar Diplomacy in favour of a more ethical approach.
What was Wilson’s attitude towards foreign policy?
On the one hand, Wilson was isolationist; he turned away from Taft’s Dollar Diplomacy and showed his support for the Open Door Policy. In doing so, he recognised the new government in China; this however upset the Japanese government. On the other hand, Wilson was interventionist; he intervened in Mexico twice, once in 1914 the other just two years later. In 1914, Wilson went after Huerta and in 1916 after Pancho Villa.  He also took America into WW1, after WW1, he took a key role in the post-war peace treaties. With the Treaty of Versailles, he called for the League of Nations.
When Wilson intervened in Mexico for the first time, it was to stabilise the violence that had broken out after the Mexican Revolution of 1910-11. As the revolution threatened American business interests, Wilson decided to send in the US Marines. He hoped that this would overthrow military dictator Victoriano Huerta, it actually strengthen Huerta’s position.
In 1916, Wilson again intervened in Mexico, this time he sent a large number of men to pursue guerrilla leader Pancho Villa. Villa had carried out attacks on the American town of Columbus in New Mexico. The soldiers spent many months chasing Villa without success; and in 1917, Wilson withdrew the troops. The instability in Mexico remained a problem, America feared that Germany would intervene; it was that fear that prompted America’s entry into WW1.
How successful was Wilson’s foreign policy?
America’s foreign policy changed dramatically when Wilson became President in 1912. Wilson had many ideas; he put emphasis on peace and ethics. After 1912 attitudes changed, there were many anti-war views. Ideas were much different to the ideas of Theodore Roosevelt and William Taft. However, Wilson took to an interventionist policy in Mexico. After the Mexican Revolution of 1910-11, there was lots of instability and violence. In April 1914, Wilson sent US Marines to Vera Cruz to restore order and over throw military dictator Victoriano Huerta. The involvement of the US Marines actually strengthened Huerta’s position.
Wilson once again intervened in Mexico this time in 1916, this time it was to track down guerrilla leader Pancho Villa. Villa had crossed the border to New Mexico and attacked the citizens of Columbus. The American troops sent to track down Villa sent many months chasing him without success. In 1917, the troops were withdrawn. These failed attempts led to the fear of German intervention in Mexico. This prompted America’s entry into WW1. Even though it was against his personal ethics and morals Wilson still decided to take America into WW1. He did this to secure America’s trade and security; he did what was best for America. America’s entry into WW1 led to victory for the Allied forces.
After WW1, there was a series of post-war peace settlements. The most famous being the Treaty of Versailles. Wilson had originally set out his own 14 points. However, due to long and tiring negotiations Wilson achieved very little of what he wanted. In terms of the League of Nations, America was denied entry and many American citizens did not want to join
In conclusion, I believe Wilson’s foreign policy was reasonably successful however; some elements were not as successful as they went against Wilson’s morals.
Why did American enter WWI?
Many believed that America should only enter foreign affairs if it threatened American trade or security. America had no standing army, the army it did have was made up of volunteers. There was also a deep-rooted opposition to a large national army. Many also believed that war should only be fought if it was morally acceptable. There were also anti-colonial ideas reflecting the USA’s revolution to British rule. British navy ships had blocked American trade roots causing financial problems. Many of the immigrants in the USA had reasons of their own to dislike Britain so they did not want to create an alliance with them. In 1915, William Jennings Bryan resigned from the post of Secretary Of State and as a result, many of the anti-war elements were weakened. Theodore Roosevelt and Henry Cabot Lodge were both highly influential individuals and were openly for joining the war in Europe. Big business also wanted America to join the war because of the jobs and money it would create.
Between August 1914, and the final decisions to enter WW1, American attitudes were shaped around several events:
· When Germany invaded Belgium, there were reports of the violence against the people of Belgium by the Germans. This increased anti-German feeling.
· In 1915, German U-Boats sunk the passenger liner RMS Lusitania en route from New York to Liverpool. This caused a storm of protest against Germany by many countries including the USA.
· In December 1916, the British government sent a secret report to the USA stating that the British government was bankrupt and that they would not be able to continue in the war unless the USA joined.
· In February 1917, the Russian Revolution and the downfall of the Tsar meant joining the Allies would be a fight for democracy.
The decisive event that led America into WW1 was the interception of the Zimmerman Telegram. By the end of 1916, Germany’s economic problems were so bad that they decided to launch submarine warfare in the Atlantic, hoping that it would provoke the USA into joining the war. The plan was to distract the USA with problems closer to home. The Germans did this by secretly proposing an alliance with Mexico. Thus, the Zimmerman Telegram was sent, promising German support for Mexico against the USA. The telegram was intercepted by British intelligence and passed onto Washington D.C. This led directly to America declaring war on Germany in April 1917.
What was the impact of America’s entry into WWI?
At the end of 1916, nobody knew how to win or stop the war. However, by November 1918, the war was a decisive victory for the Allies. The war changed the USA, for the first time American troops fought a war overseas as an alliance with other powers. The USA also had to conscript a large army, many attitudes were changed and there were also social changes. It took time before American troops could make an impact in Europe. It took time for the government to train and equip the new army. For most of 1917, the supply of American troops was small. However, from January 1918, American troops were arriving at rates of 250,000 a month.
After the arrival of American troops, it was only a matter of time before Germany would be defeated. The collapse of the Ottoman Empire, Austria-Hungary crumbled and Bulgaria surrendered. On November 9th 1918, the German Kaiser abdicated; two days later the armistice came. American intervention produced a decisive military victory after the deadlock of 1917. After the war ended, the power and prestige of the USA grew massively. It was also clear that America would play a leading role in the post-war peace settlements.  In January 1918, Wilson produced a set of 14 points based on principles of self-determination and collective security.
In post-war peace settlements, why didn’t Wilson get what he wanted?
Wilson was seen as a beacon of hope in war-torn Europe, offering idealistic and Democratic principles as opposed to the power politics of ‘Old Europe’. Wilson’s arrival in Paris was likened by many to that of Jesus Christ entering Jerusalem on Palm Sunday. The USA unlike other countries had not suffered exhaustion, economic burdens and massive military losses. As America had not entered the war until 1917, there was no way that America could be blamed for starting the war. The position of the USA as a Republican democracy with an anti-colonial history emphasised the idea ‘clean hands’ and moral superiority. Wilson’s 14 points laid the foundations for a just peace. The peace settlement was to be based on self-determination, allowing those of smaller countries to decide their own destinies outside of old empires, on collective security with the peace protected my international agreements not fighting. One of Wilson’s key points was the creation of the League of Nations.
However, thing weren’t so simple, Wilson soon became caught up in complex negotiations with other members of the ‘Big Four’ (Clemenceau – France, Lloyd George – Britain, Orlando - Italy). These leaders especially Clemenceau, had very different ideas to Wilson, they were less focused on self-determination and more concerned with extending their empires and getting revenge on Germany. Dealing with Germany was hard enough without members of the ‘Big Four’ interfering. Small countries were also emerging as new empires from their old ones. This frustrated American diplomats as Wilson was spending most of his time sorting out disputes between countries about who owned what land.
What Wilson wanted most was to start with disarmament and the setting up of the League of Nations.  However, the most of 1919-1920 the peacemakers were busy with the finalising the treaties with the five defeated powers (Germany, Austria, Bulgaria, Turkey & Hungary). The peace settlement was not a complete failure, the Allies did the best job they could in the difficult circumstances. There was however, widespread disillusionment among both the winners and the losers. Although the USA had signed the peace treaties, they were not accepted by congress until August 1921. This reflected the growing difficulties that Wilson faced at home. The glow of victory did not last long either. The demobilisation of the army left many facing racial violence. There were also economic problems at home with growing inflation. Many believed that the rewards of war were not worth the effort. Almost 50,000 American soldiers had been killed during the war and almost twice as more had been killed by an epidemic of Spanish Flu. The expectations placed on Wilson were unrealistic and bound to end in disillusionment. It is important however, to remember just how high people’s hopes were at the beginning of 1919 and how deeply Wilson’s ideas influenced the Paris peacemakers. 
Why did America retreat into isolationism?
When Wilson returned from Paris, he found a different national mood to what he had left. He had campaigned hard for the acceptance of the League of Nations by the American public but he ran into a lot of opposition. Wilson did not give up on the League of Nations and campaigned hard, but the long the peace treaty took the less likely Wilson was to get what he wanted.
Much of the opposition to Wilson was due to war-weariness, the months of negotiations meant that the enthusiasm that the public had felt at the beginning of 1919 no longer existed. Those who had previously been opposed to American involvement in the war now had their chance to speak out. Some of the opposition came from isolationists such as Senator William Borah of Idaho, leader of the Republican ‘Irreconcilables’. In 1919, his speech against the League of Nations was considered important in the Senate’s decision to vote against the League of Nations. Some of the opposition was actually caused by Wilson’s personal stubbornness.
Key personalities also played a key role in the decision to vote against the League of Nations. For years, Senator Henry Cabot Lodge had urged the USA to act like a world power, not to merge into a multinational organisation outside of the USA’s control. Wilson still insisted that the League of Nations was the way forward. The clash between Lodge and Wilson was a clash of personalities. Many groups in congress and across America were opposed to the League of Nations for a wide variety of reasons.
Wilson’s personality suffered the effects of exhaustion and illness. Many commented on how obsessed he had become with American entry into the League of Nations. He began to alienate his associates and missed the opportunity to make a compromise with Henry Cabot Lodge. Despite his illness, he continued campaigning even though it was clear that the American people did not want to be involved. In September 1919, Wilson suffered a stroke and collapsed; it left him blind in his left eye and paralysed on his left side. The public never realised how badly he had been affected until his death in 1924. 
Despite all of his campaigning, Wilson’s ideas and policies were rejected in 1920. The League of Nations was voted against by congress. The Democratic party suffered a catastrophic defeat in the Presidential election of 1920. The Republicans achieved domination in the House of Representative and the Senate. 
The USA, 1920-1929
Post-War America
Explain why Warren G. Harding won the 1920 presidential election.
The new President was a little known mid-westerner called Warren G. Harding. He had little interest or knowledge of politics and foreign affairs. He assured the public that his policy would be one of ‘Normalcy’, avoiding government intervention. Harding won the 1920 election because the American public had lost faith in the Democrats, with Woodrow Wilson becoming obsessed with the League of Nations. Harding promised the American public ‘Normalcy’ this was exactly what they wanted to hear, America retreating into isolationism. There were also social and domestic problems at home, which included the racial tension, caused after the demobilisation of African-American troops after WW1.
What was Prohibition and why was it introduced?
Prohibition was The Eighteenth Amendment, which banned the manufacture, transportation and sale of ‘intoxicating liquor’ in the USA. The Volstead Act defined ‘intoxicating liquor’ as any drink containing more than 0.5% alcohol.
Prohibition was introduced for a number of reasons for example, it was seen to have links with immigration, as with immigrants from Italy, Germany and Ireland social drinking was a central part of life in those cultures. Also after the war, the grains that were used to make alcohol were needed for food so not as much alcohol was made. Many brewers were German and as America had just fought a war against Germany, many did not want to buy or drink German alcohol. There was also pressure from groups such as the Women’s Christian Temperance Union and Anti-Saloon League; they campaigned for Prohibition hoping it would reduce crime, violence and family neglect. It was also hoped that it would improve the health of Americans. There was also support for Prohibition from some key people such as Wayne Wheeler.
What impact did Prohibition have on America?
Known as ‘The Noble Experiment’, national Prohibition proved to be a failure. When it came to pass the 18th amendment, it took only three days to decide whether to pass it. Of all the laws passed in the USA, Prohibition was the most widely ignored, even President Harding had alcoholic beverages delivered to the White House. Across the USA thousands of speakeasies appeared. The Association Against the Prohibition Amendment claimed that national Prohibition encouraged crime and undermined the morals of America.
Prohibition led to a massive increase in organised crime. Gangsters controlled territories using violence in order to protect their vast moneymaking empires. For example, Johnny Torrio ran most of the speakeasies in the Chicago area and when he retired, he had $30 million. The amount of money these gangsters had meant that politicians could be controlled easily this led to massive corruption.
One key figure who was against the introduction of Prohibition was President Wilson; he even attempted to block the Volstead Act using his Presidential veto, but was overruled.
What were the successes and failures of Prohibition?
They only success of Prohibition was the growth of the soft drink industry, most notably Coca-Cola.
There were many negatives of Prohibition, increased criminal activity, the glamorization of criminals (Al Capone), the infringement of basic rights, the lost tax revenue from the sale of alcohol, massive corruption among public officials and law enforcement and the increased divide between the rich and the poor.
Why did Prohibition fail?
For all the political support Prohibition received, millions of Americans did not intend to obey this new law.  Enforcement of Prohibition was also an impossible task with few to little law enforcement officer working on a far too small budget. There were thousands of miles of borders and coastlines that had to be patrolled and there was simply no way of doing it, with alcohol still available in both Mexico and Canada. Alcohol was also still available on doctors’ prescriptions; this was open to widespread abuse. Many ordinary people also began to make their own alcohol, they became known as ‘Bootleggers’. Industrial alcohol was also used, it was re-distilled and shipped for sale, and this illegal alcohol was called ‘Moonshine’ as it was often made during the night by the light of the moon. There was however, no quality control on this illegal alcohol so there was the risk of alcohol poisoning. 
Those employed by the federal government to enforce Prohibition were paid on average $2500 a year; those they were paid to shut down were making $2 billion a year. Between 1920-1930, 10% of those paid to enforce Prohibition were fined for corruption. 
Why was Prohibition repealed in 1933?
Public opinion throughout the 1920’s varied as to whether Prohibition was a valuable defence against a social breakdown or an inefficient and costly failure. Prohibition widened the gap between the rich and the poor. Whilst the poor distilled their own moonshine, and brewed their own beer the rich could easily acquire alcohol or just visit a speakeasy.
Prohibition came to an end in 1933, because of a massive shift in public opinion. Millions of Americans became convinced that the morals behind Prohibition were wrong and that they were the key reason for its failure. The shift in public mood was not sudden; there had always been substantial opposition to Prohibition. By 1933, most people were prepared for change, some wanted moderation on the law rather than an outright repeal. Congress tried to pass a compromise with the Blair Act, but momentum was too strong.
In the period between Roosevelt’s election and his inauguration, Congress passed the Twenty-First Amendment in march 1933. Over the following months, the repeal was validated by individual states. Once 75& of states had done so, Prohibition was dead.
Why did Al Capone’s crime empire collapse?
When Hoover was President in 1929, he commissioned Treasury Secretary, Andrew Mellon to go after Capone, who at the time was at the peak of his power and influence. Capone made the mistake of attracting too much publicity; his high public profile made him a target for the authorities. There was no use of local law enforcement as Capone had completely infiltrated it.
Mellon focused on the two areas in which the federal authorities could use their powers:
· Income Tax Evasion
· Violations of the Volstead
This eventually paid off in October 1931, when Capone was sentenced to 11 years in prison on various charges of income tax evasion and over 5,000 offences against the Volstead Act. Capone’s career was over but there was more to taking down organised crime than imprisoning one individual whose importance was overrated. The criminal organisations Capone ran continued to operate. The new generation of crime bosses carried on much as before; but they did learn lessons from Capone. The key lesson, don’t attract too much public attention. 
The basis of organised crime was changing because Prohibition era was ending.
What was the Red Scare?
Between 1919-1920, there was a period of anti-communist hysteria, which grew out of genuine fears about a communist revolution spreading from Russia and post-war Europe. When the Bolshevik revolutionaries seized control of Russia in late 1917, it seemed they were about to spread across the world. In 1918-1919, there were communist revolutions in Berlin, Munich and Hungary. 
Why did it take place?
Anti-immigration feelings were created by the USA’s entry into WW1. During and after the war many Americans viewed immigrants from the south as spies and subversives.  Congress passed two acts based on the fear of radicals and revolutionaries, The Sedition Act and The Alien Act. The Sedition Act was an attempt to clamp down on the expression of anti-American or anti-government ideas and views. The Alien Act followed the sedition act. It gave the US government the power to deport anyone who had been a ‘member of any anarchist organisation’ these two acts together allowed the government to clamp down hard on political left-wing thinkers.
There was also a fair amount of racial tension caused by the migration of African-Americans from the south to the north. They faced prejudice from not only the whites but also the few blacks that were already in the cities. 
There were also economic problems; inflation was rising quickly whilst wages were only slowly rising. There were also problems after the rapid demobilisation of the US army, this then left many jobless and those who had a job were fighting to keep it. During 1919, there were a record number of strikes involving 4 million workers. The most controversial strike was that of the Boston Police Force, with 75% of the force striking. President Wilson called it ‘a crime against civilisation’.
What happened during the Red Scare, which groups were targeted and why?
During the ‘Red Scare’, there were 4000 arrests, these were known as the Palmer Raids. Attorney General, Mitchell Palmer was the key figure in the campaign to root out radicals and communists. In August 1919, Palmer set up the General Intelligence Division to investigate revolutionary activities. Palmer had been shocked by a series of bombing that had taken place in April and May 1919. Bombs had been sent through the US Postal Service to prominent public figures such as, Mayor Hanson and even Palmer himself. The bomb sent to his home, exploded prematurely killing the man delivering it, he turned out to be an Italian immigrant. This led to a public outcry against anarchists and suspicious immigrants. 
The industrial unrest in the autumn of 1919 was the background to the palmer raids. On November 7th agents under the orders of the Justice Department, raided the offices of alleged radical organisations in 12 cities across America. Documents were seized and 250 suspects were arrested. In December, Palmer deported 199 of them, along with other radicals imprisoned during the war. The Palmer Raids continued into January 1920, with action in 33 cities to close down all known communist party offices. Some 4000 were arrested by the Bureau Of Investigation and made the career of a young assistant director J. Edgar Hoover.  The raids in January encouraged similar action at state and city level. In New York, elected socialist members of the legislature were banned. Many states introduced ‘red flag’ laws prohibiting communist banners and insignia.
During the 1920’s there was a strong reaction to the violence and the violation of people’s rights that the ‘Red Scare’ brought. In January 1920, the supreme court ruled against the use of any and all evidence collected during the Palmer Raids. As a result, the cases of many were dropped due to a lack of evidence. Many in the Wilson administration did not support Palmer. The Governor of New York, Al Smith led a powerful campaign to allow the banned socialists back into the legislature. Palmer tried to create a new scare about radical violence, which he predicted would happen on May 1st 1920, no such violence broke out, public opinion turned against him, and his political career ended. 
The Red Scare blew itself out in 1920, but left behind a legacy. The symbol of this is the case of Italian immigrants Sacco and Vanzetti.
What did it reveal about America at the time?
World War One took the fears of ordinary Americans and heightened them, America became sacred of the ‘enemy within’, communists, socialist and immigrants. It also led to calls for the end of mass immigration. This fear and tension also led to the rise of the KKK and calls for Prohibition.
Who were Sacco and Vanzetti, and why were they arrested?
Sacco and Vanzetti were two Italian immigrants who claimed to be anarchists. They were arrested and charged with murder after an armed robbery in Boston in May 1920. They were linked to previous acts of violence and duly convicted and sentenced to death. Their trial began a long legal and political controversy that divided the country. 
Why was their trial important?
The handling of the trial was also controversial, with many witnesses being excluded on ethnic grounds, and contradictory evidence given by those witnesses allowed to testify. The whole trial was seen as a frame-up. The trial and legal appeals lasted years and their case became a national sensation. Sacco and Vanzetti were finally executed in August 1927, but the political divisions created by their case remained.
Why did attitudes towards immigrants change after WWI?
World War One took the fears of ordinary Americans and heightened them, America became sacred of the ‘enemy within’, communists, socialist and immigrants.
Were certain groups being discriminated against more than others, if so, why?
In 1917, Congress passed a law, which required all immigrants to speak English, it contained clauses specifically designed to limit the number of immigrants from Asia.  After the various acts passed 1921-1924, limiting the number of immigrants entering the USA, certain ethnic groups were discriminated against. This deliberately discriminated against ethnic groups who had, had high levels of immigration since 1890, and favoured immigrants from Europe.
How and why was immigration restricted?
Anti-foreigner feeling was reflected in the Espionage Act of 1917 and the Sedition Act of 1918, they were created out of fear for national security. After WW1, immigration numbers were 400,000 a year. In 1921, Congress passed the Emergency Quota Act, the act aimed to reduce immigration to 350,000 a year; it was the first time a numerical limit was placed on immigration. Quotas were set at 3% of a country’s population from the 1910 census. This left the number of immigrants arriving from Europe unchanged but cut all other immigration by 70%. In 1924, another act was passed; it limited the number of immigrants to 2% of a countries population of the 1890 census, further reducing the number of immigrants entering the USA.
The hope was that immigration would be reduced to 165,000 a year. Despite all the restrictions, immigration continued and the total number of immigrants entering the USA in the 1920’s was 4 million. It was not the Emergency Quota Act that reduced the number of immigrants, but the Great Depression.
Who did the KKK target and why?
The Klan targeted many different groups in society, the main one being African-Americans, they wanted to limit the rights of black people. The Klan believed that African Americans were the cause of most crime in America. They also believed that blacks are intellectually inferior and have no moral sense, that they rely on welfare to survive, that they are drug users, and that black men are pathological rapists of white women. The Klan also targeted: 
· German-Americans – The recent war with Germany meant that they didn’t trust them
· Jews – They saw Jews as the source of virtually all evil in American society
· Freed Slaves – They wished to remove their newly acquired rights
· Communists – They were seen as a threat to America
· Roman Catholics – They wanted everyone to be protestant
· Homosexuals – They saw being gay a sin.
· Immigrants - Immigrants were seen as threats to the Americans.
· Bootleggers – The Klan were supporters of Prohibition
· Anti-Prohibitionists – The Klan were supporters of Prohibition
Explain why the KKK was revived in the 1920’s
The Klan reappeared in 1915, after the work of William J. Simmons, a former Methodist preacher. He was influenced by the book The Clansman by Thomas Dixon and the film Birth of a Nation by D. W. Griffith. Both of these works portrayed the KKK as a heroic organisation protecting White Anglo Saxon Protestant America. The First World War also played a key role in the revival of the Klan. It led to a rise in patriotism and opposition to ‘alien’ influences associated with immigrants. It also aided the fear in many southern communities of the return of African-American soldiers from France. The summer of 1919 was race riots across America. 
Although William J. Simmons re-founded the KKK, it was the work of two individuals that led to the rapid rise of the Klan. These individuals were Edgar Young Clark and Elizabeth Taylor. The two increased membership using aggressive marketing campaigns. As membership rose, so did the amount of money the Klan received. With a $10 joining fee and a robe set for $6.50 the Klan soon had hundreds of thousands of dollars. By Elizabeth Taylor’s death in 1924, the Klan's membership had risen to over 4 million. 
The KKK influenced many local elections in the 1920’s; it also controlled many judges, sheriffs and police officials. In Georgia, both senators were Klan sympathisers and in Colorado and Oklahoma, some of the governors were Klan sympathisers. 
Why did the KKK declined rapidly towards the end of the 1920’s?
After 1925, the Klan went into a rapid decline. David Stephenson, the Grand Dragon of Indiana was sentenced to 25 years imprisonment for rape and manslaughter. This ruined the Klan’s image of protectors of womanhood and moral purity. Anti-immigration feeling was reduced by the success of a campaign to reduce the number of immigrants. Hatred of big business was weakened by the growing prosperity of the 1920’s. Many of the politicians who supported the Klan in order to take advantage of opportunities were just as quick to abandon them when public opinion of the Klan changed. By 1929, membership of the Klan was 200,000. The KKK disappeared; but it didn’t mean that the discrimination of African-Americans stopped, racial violence continued in the south.
Why did America become more isolationist in the 1920’s?
At the beginning of 1919, Woodrow Wilson was the most important political leader in the world, and many of his views were supported by Americans. However, the peace making at Paris proved a long, difficult and frustrating journey; there were endless disputes between the leaders. At home, America was dealing with Prohibition, immigration, communists and radicals. As a result, a wide gap opened between Wilson and Congress in their views on what America’s relationship should be with the outside world. The key symbol of this was the League of Nations. Wilson refused to compromise of the league; this strengthened his opponents, both Democrat and Republican.
By 1920, Wilson was slowly losing his political authority; this made the Democratic Party weaker. By the end of 1920, it was clear that the next President would almost certainly be a Republican and public mood was moving towards isolationism.
How isolationist was America in the 1920’s?
America was not completely isolationist during the 1920’s. American foreign policy under Harding and Coolidge saw the USA expanding her power. For example, American financiers played a key role in restructuring Germany’s reparation payments to the Allies. This was done through the Dawes Plan of 1924, and the Young Plan of 1929. In 1928, American Secretary of State, Frank B. Kellogg played an important role in trying to get international support of the Kellogg-Briand Pact. This was an idealistic agreement intended to renounce war and aggression. Therefore, America was not completely isolationist during the 1920’s.
What was ‘Normalcy’?
Normalcy was the famous, grammatically incorrect policy of President Warren G. Harding. He promised the people of America, that America would not intervene in foreign affairs and get on with its own business.
Prosperity In The 1920’s
How did the role of women change in the 1920’s?
The 1920’s was the decade of the new woman. The fight for women’s suffrage ended in success when in August 1920 Congress ratified the 19th Amendment, giving women the right to vote. As well as the right to vote, women gained new social freedoms. Fashion and the growth of the retail industry also had an impact on the lives of women. New household appliances began to change domestic life for millions of women. Those previously unable to afford cleaning staff could now purchase electrical appliances. Washing machines, electric irons and dishwashers promised to liberate millions of women across America.
The most enduring stereotype of women in the 1920’s is that of the flapper, a sophisticated, fashionable, pleasure mad, young woman. The flapper reflected important changes in the lives of American women. There was new fashion and dance styles, giving way to a more carefree and pleasurable lifestyle. One individual in particular who symbolised these changes was ‘it girl’ Clara Bow, a Hollywood film star. She was described as a ‘quintessential flapper’. 
There was also the growth of the cosmetics industry, earnings increased from $17 million to $200 million per year. Names such as Chanel, Helena Rubenstein and Elisabeth Arden became household names across the USA. Women in America were now taking control of their sexuality, wearing make-up, shorter shirts and they stopped wearing corsets.
Like all stereotypes, the flapper only reflected one aspect of the role on women in the 1920’s. The 1920’s had begun optimistically for women with the passing of the 19th Amendment, giving women the vote. However, no identifiable women’s movement materialised. In 1923, the National Women’s Party, led by Alice Paul and Rose Winslow, failed to get an equal rights amendment. They wanted Constitution to include an amendment that gave men and women equal rights throughout the USA. 
In what ways did popular music and jazz change in the 1920’s?
The ‘Jazz Age’ of the 1920’s, saw for the first time, a rise in the type of music that came directly from African-American culture. It also reflected a move of population from the old south to the north. Chicago and Harlem, New York became centres for the development of jazz. It also had some origins in the deep south but jazz was an urban-based, northern type of music.
Jazz also influenced the development of new dance styles. Out went the Waltz, and in came the Charleston, Black Bottom and Turkey Trot. These dances were associated with improvised steps and new women’s fashion. However, not all America took to this new music and dance styles. Small-town and white working class America in the south, mid-west and west still listened to country and western and danced the Hoe Down. 
How important was mass spectator sport in American popular culture?
America’s national sport was baseball; however, in 1919 the game was affected by scandal. The Chicago White Sox were accused of throwing the World Series for money. Professional baseball was dominated by the New York Yankees in the 20’s. One player in particular, Babe Ruth was a major star. Mass spectator sport and radio came together most effectively in professional boxing.
What impact did radio and cinema have on American society in the 1920’s?
America's first radio station was KDKA of Pittsburgh. By the end of the 1920’s hundreds of radio, stations had spread across the country. For the first time, small towns and remote rural areas were able to hear up-to-date news broadcasts and music. The growth of radio was matched by the spread of advertising.
The development of cinema was of even greater significance. By 1919, Hollywood had become the centre of the world film industry. American stars dominated the silent screen. Every small town across America had its own picture house. Cinema became the main form of entertainment in America. In 1927, Hollywood had major technological advances with the invention of talking pictures. The establishment of the Academy Awards (Oscars) in 1928 gave Hollywood an annual showcase to prove its importance in American society and world cinema, which it has not lost since.
How important were the 1920’s for the development of American literature?
The writers of the 1920’s laid the foundations for modern American literature and provided an insight into life in 1920’s America. The two most important writers were F. Scott Fitzgerald and Ernest Hemingway. Their works emphasised the disillusionment of 1920’s society. 
An important feature of literary development was the African-American cultural renaissance centred in Harlem, New York. Despite these cultural developments, African-Americans still faced discrimination across the USA.
What were the reasons for the economic boom of the 1920’s?
There were a large number of reasons for the economic boom of the 1920’s:
· America’s Size and Economic Wealth: The USA’s population was almost 3 times larger than that of Britain. This meant that American companies had a large market to sell their goods; they were also helped by America’s effective transportation system. The USA also had a vast supply of natural resources including, oil, coal and metal ores. 
· Entrepreneurs: American inventors had created, the light bulb, sewing machines, telephones, refrigerators and washing machines. 
· The American Dream: If you worked hard enough, you could be prosperous. Immigrant populations provided hard-working and cheap labour, which made industrialisation a success.
· World War One: The USA’s economy had been growing before WW1 and the mobilisation of the economy for war had increased efficiency and stimulated manufacture. America’s economic rivals had bankrupted themselves fighting the war. The demand of American armaments had boosted the growth of industry.
· Technology / Fordism: Henry Ford revolutionised car manufacture, he introduced new methods such as mass production. An assembly line meant unskilled workers could learn how to assemble a specific part of a car. Henry Ford introduced a $5-a-day pay rate for his workers; this was substantially higher than other companies. In return, his workers were encouraged not to join trade unions and to follow company policy on assembly line working.  By 192, Ford was producing a Model T Ford every 10 seconds. By 1927, Ford had produced 15 million Model T Fords. Indirectly, the motorcar industry created thousands of jobs in steel, paint, rubber, lumber and electrical industries. While motorcar manufacture and its related industries dominated the decade, the new manufacturing techniques affected and benefited almost all other industries.
· New Management: Alongside Fordism came the development of business management. Time and Motion studies developed. Manufacturers believed an efficient system should be adopted in order to obtain the highest level of productivity. The 1920’s saw the rapid growth of advertising and marketing. These were aided by the developments in radio, cinema and the motorcar industry.
· Government Policy: The Federal Government helped create the economic conditions required for a boom. The Republicans policy included ‘Laissez-Faire’ in terms of the economy. The Ford-McCumber Tariff Act placed import duties on farm products, chemicals, textiles, chinaware and industrial products.  Secretary of the Treasury, Andrew Mellon, cut the tax of the rich from 50% to 20%. This encouraged the development of large businesses.
· Easy Credit and Hire Purchase: New technology and management techniques allowed manufacturers to produce more goods at a lower unit cost per item. An economic boom would not have happened if there were no demand to buy. During the 1920’s there was an increase in wages from $1308 to $1716 per year. There was also low inflation. The development of hire purchase allowed consumers to buy goods at a fraction of the price, and pay the rest, in instalments with little interest. Between 1919 and 1929 consumer spending grew from $32 billion to $60 billion.
· Stock Market: With the availability of easy credit, people could borrow money with little securitisation. They would then use this money to buy stocks and shares on the Great Bull Market, the Great Bull Market had very little regulation. People began to speculate on the stock market, buying shares with money they didn’t have. The government did nothing to stop this.
Which groups missed the prosperity in the 1920’s?
There were 4 key groups that didn’t experience the boom of the 1920’s:
· Older Staple Industries (Railways, Timber, Coalmining, Cotton Textiles and Shoemaking): Older industries faced competition from abroad and were undermined by the development of new industries such as, oil, synthetic textiles and concrete.
· Farmers: When demand fell so did the prices, wheat, wool, cotton, corn and livestock were affected. There was overproduction due to mechanisation and new techniques. Attempts by the government (The Ford-McCumber Tariff Act of 1922) to help actually made the situation worse. Demand for the alcohol producing grains also fell after the introduction of Prohibition.
· Trade Unions: After the Red Scare and the Palmer Raids, there was a decline in membership. There was no incentive to join as non-members had the same benefits as members. Big Business was also anti-trade unionists; they were supported by the government, who made laws that made it difficult for workers to strike. Some trade unions only accepted skilled workers putting many off joining.
· African-Americans: Many African-Americans lived in poverty and as a result received a poor education. They also held a poor position in the social pyramid; this meant that they often occupied the worst paid jobs. They were also subjected to racism and were segregated from the white community.
The USA, 1929-1941
The Wall Street Crash & The Great Depression
What was the Wall Street Crash?
The Wall Street Crash was a collapse in share prices. In September 1929, there was a sharp fall in prices but there was no financial panic. On October 24th, ‘Black Thursday’ prices fell through the floor, then 5 days later on ‘Black Tuesday’ this was known as the first Great Crash. The paper value of stocks fell $26 million. The stock market crash was not that exceptional. There had been previous financial panics since 1873 and this one seemed no worse. There was no rush of bank failures, which suggested the financial system could cope. The huge losses in 1929 were seen as an overvalued stock market simply correcting itself.
The buying of stock and shares went out of control, there was too little government intervention.it was the impact of government policies to maintain the gold standard. Some experts argue that this led to the increase in speculation because cheap money made borrowing too easy. The rate of speculation and borrowing meant that loans could not be covered if there was a rush of selling. Psychological factors led to overconfidence. Voices in the background suggested something should be done to slow down the speculation.
To encourage the growth of business, stock exchanges such as Wall Street did little to investigate into firms who were buying and selling shares. The US banking system was made up of thousands of small state-based banks; only one-third of all US banks were under the jurisdiction of the Federal Reserve Board.
What were the causes of the Depression?
Many of the causes of the Depression were long-term problems that already existed before 1929. Some were due to the circumstances of 1929-1930.
Long-Term Causes:
· Falling prices in agriculture, wheat prices in 1929 were less than half what they were in 1920.
· The number of people working in agriculture fell from 40% (population) to 15%.
· The value of farmland fell by more than 30% between 1920-1929. 
· Annual per capita income for farm workers in 1929 was $273, in other industries it was $750.
· Several staple industries faced long-term difficulties in the 1920’s. This trend did not only apply to the USA; industries in Britain and Europe were also facing problems.
· Mechanisation was also taking away 2 million jobs per year.
· The low interest rates introduced by the Republican government increased borrowing and this led to increased speculation. This in turn led to the Wall Street Crash.
Short-Term Causes:
· The construction boom of the 1920’s came to an end in 1928, this slowed down spending and investing.
· The boom in car ownership stopped quickly. By 1929, most Americans who could afford a car owned one.
· Industrial production also fell most noticeably in the 2 months before the Wall Street Crash.
· There was a fall in wholesale prices.
· The trade unions were weakened after the Red Scare and Palmer Raids. The AFL lost 1.7 million members from 1920-1929.
· Protectionism, America tries to protect her market by putting tariffs on goods from other countries.
Other Causes:
· Under consumption, this was masked the access of easy credit.
· Overproduction, this was due to the introduction of new technology.
· Misdistribution of wealth, the bottom 40% of the population received 12.5% of the nation’s wealth. The top 5% received 33% of the nation’s wealth. 
· Overseas demand was affected by the Ford-McCumber Tariff Act.
· International economic problems; the world economy during the 1920’s faced severe economic problems as a result of WW1 and the peace treaties that followed.
· The Collapse of Banks – The banks were not national organisations many existed as just local or state banks. Therefore, when everyone rushed to these banks to withdraw all their money the banks could not cope. They tried to reclaim the money they had lent to speculators but they too were bankrupt. As a result, many banks were forced to close and declare themselves bankrupt; consequently, many savers lost their money. 
· The Collapse of Businesses – With the failure of the banking, system there was no chance of a speedy recovery after the Crash. Unable to secure the necessary bank loans in order to tie them over, many businesses were forced to close. Workers who had saved money now found themselves with nothing; there was no dole of any kind.
Although all these causes played an important part in the Depression, the impact of the Wall Street Crash was obviously a key cause in itself. The crash caused problems for industry and the banking sector. It affected business confidence, slowing down consumer spending and damaging production.
What problems did it create?
· Massive unemployment, before the Wall Street Crash unemployment was 3.2% after the crash it rose to 24.9% and stayed high until WW2. 
· Industrial stagnation
· Bank Failures
· Economic Issues
· Collapses of Businesses
· Fall In agriculture prices
· Fall in share prices
· A collapse in world trade
· Collapse in public confidence 
· The human cost – Millions of Americans suffered during the Great Depression, none more than farmers did. Facing a massive fall in food prices, they reduced production, halving it in the period 1929-1932. thousands of American farmers lost their livelihoods and their farms, all industries that were connected with farming also went bankrupt. 
· Unemployment and its consequences – Unemployment made individuals and families penniless. In cities such as Chicago as many as 40% of the population was unemployed. In these cities however, local relief organisations gave the most desperate individuals $2.40 for an adult and $1.50 for a child per week. Immigrant communities were particularly badly affected. 
· Homelessness was also a big problem, unable to pay rent, thousands of families were forced to take shelter in shantytowns known most commonly as ‘Hoovervilles’ (after president Hoover who seemed to be doing very little to combat the Depression). 
· Ill health was inevitable with inadequate medical care, poor diet and even malnutrition. 
· High school dropout rates escalated; by 1933, 300,000 children were not in school.
· Suicide rates also increased to 14%. 
· Older members of the community had lost their pensions and all their savings so therefore had very little to look forward to in life.
The Wall Street Crash and subsequent Depression sent shock waves throughout the world and its economy. American banks had lent money in order to aid post-war recovery and development in many countries, Germany being a prime example. When the US economy collapsed, the first reaction of the banks was to recall all of their loans. The sudden loss of financial support from America led to economic collapse throughout the world.
With the country increasingly in the grip of the Depression, with confidence shattered and an uncertain future, attention began to focus on the President in the White House, Herbert Hoover. 


How did the Depression become The Great Depression?
The Depression did not become the Great Depression until the middle of 1931. America had faced economic hardships before, but the Great Depression that hit America in 1931 was different from others, in its length and in the extent of the poverty, it brought to the people of America. 
The main features of the Great Depression:
· The Gross National Product (the value of goods produced plus the income from abroad) fell from $104 billion to $59 billion in 1932.
· Farm prices fell by 60% between 1929-1932. Wheat prices fell from $1.04 per bushel to 51¢.
· 5,500 banks had closed by 1933.
· 20,000 companies went bankrupt.
· Unemployment rose from 3% in 1929 to 25% in 1933, 13 million were unemployed by 1933.
· National income fell by half - $80 billion in 1929 - $40 billion in 1932
How did President Hoover respond to the Great Depression?
Faced with such a crisis, many Americans looked for someone to blame. By the beginning of 1932, Hoover had come to realise that his efforts to combat the Great Depression had failed. To ease the suffering faced by many Americans, Hoover pinned his hopes (1929-32) on the ‘voluntarism’ approach.
‘Voluntarism’ In Action: 
· Business leaders were summoned to the White House and pledged themselves to maintain wages and employment. 
· Seeing unemployment as a local issue, Hoover called on state governments to create public works projects.  
· In October 1930, Hoover established the Emergency Committee for Employment to co-ordinate voluntary relief agencies.  
· In 1931, Hoover persuaded the nation’s largest bankers to establish the National Credit Corporation to lend money to smaller banks to make loans to businesses.  
· He also cut taxes; this meant that a family man with an income of $4,000 had his tax cut by two thirds.
The Failure Of ‘Voluntarism’: 
· Hoovers ‘voluntarism’ failed, unemployment continued to rise and big businesses broke their pledges and cut wages. 
· Other support for the unemployed also failed, public charities and local welfare agencies weakened. 
· In Philadelphia, the number of unemployed rose to 300,000 and the city cut relief payments to $4.23 per family. By June 1932, they stopped them all together. 
By this time, Americans were becoming disillusioned with Hoover and the Republicans. As early as November 1930, the Republicans had lost 8 senate seats and control over the House Of Representatives. Early in 1932, with an election looming and ‘Voluntarism’ having so obviously failed, Hoover changed his tactics. Intervention that was more decisive was clearly required.  In July 1932, he signed legislation authorising the Reconstruction Finance Corporation to give $2 billion to state and local governments for public works programmes.
 Whether these initiatives represented real change in both thinking and policy on the part of Hoover is a matter of debate. What is more important is that they failed to stop the rise in unemployment and to help the millions of Americans who were suffering as a result. The popular view is that Hoover did ‘too little, too late’ and came nowhere near to tackling the enormous problems which the American economy faced. The reality was that for the measures to succeed or even to be applied, Hoover needed the support from a number of bodies and agencies outside Washington.
 If the economy was to recover:
· State governments would need to keep up their spending to support the economy at local level
· Farmers would need to cut their production
· Employers would need to keep their workers on the payroll
· The banking system would need to be reformed and general economic regulation would be needed.
Hoover also needed to be sure that financers would invest government money in private enterprises and that bankers would give their customers credit to revive their damaged businesses. None of these needs were met because the American people, as a nation, had lost confidence in themselves, in the economy and in the Republican government’s ability to lead them out of the Depression. 
Thus by early 1932, the American people viewed Hoover as a president who appeared not to care about the difficulties faced. Whilst Hoover remained unopposed as Republican candidate for the presidency, party members realised that in the forthcoming election, they faced defeat. Although they praised his efforts to deal with the Depression, they knew that he had become widely unpopular. The mocking term ‘Hoovervilles’ was one example. 
Hoover was a rational politician but his rationalism did not stretch to the kind of radical measures necessary to halt the onward march of the Depression.
The Case Against Hoover
Critics argue that Hoover ‘did too little, too late’. Historian Donald McCoy stated, ‘What he [Hoover] and his administration did either was insufficient to combat the deep and long-extended economic crisis or came too late and Congress did little to help. It is plain in retrospect that Hoover was too cautious.’  The American people who lived through the Depression had made up their mind. Terms such as ‘Hoovervilles and Hoover Blanket’ show that the public blamed him for the Depression.
Instead of looking for the causes of the Depression in the USA, Hoover argued that the international economic conditions were the root cause of the problem and were more important than a lack of federal government intervention. In 1931, Hoover himself claimed, ‘the major forces of the Depression now lay outside the USA’. 
The policy of protectionism harmed farmers. Congress passed the Hawley-Smoot Tariff Act in June 1930, pushing import duties up to exceptionally high level. It was only meant to apply to agriculture, but protectionists in Congress made sure it applied to industry as well.  The Hawley-Smoot law did little to help farmers and had a harmful effect on international trade. Hoovers advisers strongly urged him to stop the law using his Presidential veto. Not doing so, is seen by many historians, as Hoover’s biggest mistake.
By the second half of 1931, the full scale of the Great Depression was becoming apparent. Agriculture was in crisis and 7 million were out of work and rising steadily (it reached 11 million in 1932) and industry was at a standstill.
Hoover took his time bringing about federal intervention, and when he finally did, the intervention did not improve the situation. In 1932, there were a number of attempts to get America back on its feet. These included The Reconstruction Finance Corporation, The Glass-Steagall Act, The Federal Home Loan Bank Act, The Emergency Relief and Construction Act, and The Revenue Act (this actually made life harder for struggling farmers and the unemployed). These steps were not enough to bring about any immediate success. By 1932, 25% of farmers had lost their land.
An episode that affected Hoover’s image was his conflict with the ‘Bonus Marchers’. In May 1932, 15,000 war veterans, calling themselves the ‘Bonus Expeditionary Force’, went to Washington, D.C to demanding the full payment immediately rather than waiting until 1945. The Bonus Army established a shantytown on Anacostia Flats. Hoover refused to meet their demands and offered then nothing apart from money to return home. On July 28th, Hoover ordered the US army to evict the Bonus Marchers from Anacostia Flats. The army used tear gas, machine guns and tanks; they destroyed the camp, killing 2 marchers in the process. This horrified the citizens of America, and made Hoover look un-American and heartless.
The Case For Hoover
Journalist William Allen White wrote, ‘Hoover was the greatest innocent bystander in history, a brave man fighting valiantly to the end.’
British historian Hugh Brogan wrote, ’Hoover saw the peril [of the Depression] and acted to avert it. During the rest of his Presidential term he was to act incessantly, doing more than any previous President had done in any previous economic crisis.’
Hoover faced an unprecedented economic situation. Previous Depression’s had occurred and were seen as part of the business and trade cycle. Hoover did not know how deep this Depression would go. He did not take any action immediately because Treasury Secretary Andrew Mellon felt the crash would have been beneficial in ‘weeding out’ weak elements. Hoover believed in ‘Voluntarism and Rugged Individualism.’ He did have some initial success in persuading businesses to help; and he did change his policy and intervene on a federal level when he realised ‘Voluntarism’ was failing.
Hoover brought in the Grain Stabilisation Corporation in an attempt to stabilise prices but his attempt was hindered by a world collapse in grain prices. He also tried to boost international trade by suspending allied war debts for 18 months. Hoover placed great hope on an international economic conference to be held in London in early 1933 (after the Presidential election), but President Franklin D. Roosevelt refused to compromise with the other countries.
Roosevelt & The New Deal
Explain why Franklin D. Roosevelt won the 1932 Presidential election.
Franklin D. Roosevelt won the 1932 election because of the failure of Herbert Hoover, the people of America lost faith in Hoover. Whilst Hoover remained unopposed as Republican candidate for the presidency, party members realised that in the forthcoming election, they faced defeat. There was no way that the people of America were going to vote for Hoover. Roosevelt also had a reputation as a successful politician with drive, self-confidence and speech-making ability. He also had remarkable determination; he overcame serious disability because of the effects of polio, to become the Governor of New York. Roosevelt could not walk or stand without the aid of metal leg braces, he was however, never seen in public in a wheelchair. He also had a steady nerve on February 15th 1933, after the Mayor of New York was killed by bullets meant to assassinate the President. He also offered the idea of a New Deal, a collection of policies created to cope with the crisis of the Great Depression.
What were the ‘First Hundred Days’?
Roosevelt was a man in a hurry, his first aim was to sort out the failing banks, and he wanted to restore confidence. He asked Congress to grant him powers as great as those he would have if the USA were invaded by a foreign enemy. As far as the electorate was concerned, there was no problem with this demand. Political Journalist Walter Lippmann wrote, ‘The danger we have to fear is not that Congress will give Franklin D. Roosevelt too much power, but that it will deny him the power he needs’. Roosevelt called Congress into a special session, which would last for 100 days. These first 100 days of Roosevelt’s Presidency were possibly the most frenzied and energetic of any Presidency.
He rushed into action creating ‘The Emergency Banking Act’ on March 9th, this created a 4-day banking holiday. When the banks re-opened, they were carefully supervised. The night before then end of the banking holiday, Roosevelt gave his first fireside chat; his aim was to restore confidence. The 100 days was a rush of action, a rush to make the maximum impact in the shortest time possible. The New Deal had 2 broad aims, the first was relief and recovery, the second was reform and regulation. To bring about reform Roosevelt introduced Alphabet Agencies. Not all the Alphabet Agencies were successful and some were more important than others were.
Why did Roosevelt have fireside chats?
Roosevelt’s fireside chats were a series of 30 evening radio broadcasts given between 1933-1944. Sometimes, Roosevelt would begin his talks with ‘good evening friends’, he urged his listeners to have faith in the banks and to support his New Deal measures. The chats were hugely successful. He was the first President to reach a mass audience directly in their own homes and his conversational style was very effective.
Roosevelt declared a banking holiday on March 9th 1933, lasting 4 days. The night before the banking holiday ended, Roosevelt gave his first fireside chat. He told the people of America that their money would now be safe in the banks, his tactics worked; people began depositing money in the banks again. The long banking crisis was now over and Roosevelt was declared a hero.
What were the successes and failures of the First New Deal?
There were many clear successes of the first New Deal, especially in stabilising the banking system. One of the most significant decisions was to take America off the gold standard; this went against the orthodox economic thinking of the time. There was however, no other alternative. The results were mostly beneficial, with markets becoming more stable. The same thing happened when Britain abandoned the Gold Standard in 1931. Another success was the protection of homeowners and farmers by giving them help to refinance their loans to make them easier to pay.
There were also public work schemes; these provided much needed employment rather than relief payments. Public work schemes also had a beneficial effect on conservation and infrastructure. The civil works administration provided temporary employment for 4 million people and also built sewers, roads and airports. The greatest success of the first New Deal was changing the nation’s mood from hopelessness to optimism.
There were however, failures of the first New Deal. The AAA never fully achieved what was hoped, production of wheat did fall but it was due to the drought of 1934. The AAA also had an awful effect on rural poverty, especially in the south. Farmers in the south suffered more as a result of the AAA reducing the amount of land they owned; this left them with little land to grow their only income, cotton. 
There was also very little help available to help African-Americans. Roosevelt was afraid of offending southern politicians and business leaders who could stop the New Deal.
For many people however, the first New Deal lessened the impact of the Great Depression, but it did not bring about real recovery. Having raised people’s hopes so much, the New Deal was leading to frustration and disillusionment, even among those who had supported Roosevelt form the beginning.
Why was there opposition to the First New Deal?
The Left
Most opposition from the left came from the left came from those who had originally supported Roosevelt. He had raised hopes and expectations but failed to deliver. The opposition came from farmers, labour unions and old style progressives such as Senator La Follette of Wisconsin. In the 1934 mid-term elections, reformers that were more liberal were voted into Congress. As a result, there was a sharp increase in the number of votes for socialist and communist candidates.
Roosevelt faced more opposition in 1934-1935 after the rise of populist Huey Long. At first, Long had supported Roosevelt and the New Deal, but he then turned against him on the grounds that Roosevelt had cooperated with Big Business. When reality fell short, Roosevelt and the New Deal were blamed for not doing enough.
The Right
At first, there was little open opposition from the right. Roosevelt wanted to keep the support of bankers, business leader and the conservatives within the Democratic party. He made compromises within the New Deal for the benefit of business leaders.
Father Charles Edward Coughlin supported Roosevelt and the New Deal at first; he told his 30 million radio show listeners that ‘the New Deal is Christ’s deal’. However, by the second half of 1934, he had turned against Roosevelt and labelled him ‘communistic’ and ‘dominated by Jewish bankers’. Father Coughlin continued to be a strong opponent of Roosevelt’s throughout the 1930’s.
Between 1934-1935, opposition from conservatives was increasing. A number of conservative judges passed injunctions to block New Deal policies. This conservative opposition grew stronger when the second New Deal began in 1935.
How serious was opposition to the First New Deal?

Why was there a Second New Deal?
There were many factors that influenced Roosevelt to create a second New Deal. There was pressure from Huey Long and Father Coughlin. Roosevelt was also determined to overrule the decisions of the supreme court and he believed that America could face serious problems unless something was done to accelerate recovery. As a result, New Deal policies became more radical and took state intervention further.
What was the ‘Second Hundred Days’?
These 100 days began in June 1935. Roosevelt pushed through Congress, a wave of new radical reforms. He took on the banks, and public utility companies. He also taxed the rich.
Through the Works Progress Administration, Roosevelt expanded relief schemes. He also brought in Federal Social Security Benefits. He improved labour relations through the Wagner Act. All of these actions caused a storm of opposition, but they were still passed.
The second New Deal was taken further in 1937-1938 by a legislation that helped poorer people with housing; farmers keep position of their land and gave factory workers a minimum wage and a 40-hour working week. The second New Deal had a massive impact on America. However, the ultimate aim of economic recovery was not achieved and Roosevelt faced a backlash of opposition from conservatives.
What were the successes and failures of the Second New Deal?
There were several long-term successes of the second New Deal:
· Labour rights and industrial relations were much improved
· Membership of trade unions doubled between 1935-1940
· There was lasting improvements to infrastructure such as rural electrification.
There was however, no real economic recovery and the economy actually went backwards between 1937-1939. Unemployment jumped back up to 10 million in 1938, 2 million more than 1936. Farmers were still facing a desperate situation. Roosevelt made the mistake of provoking divisions and opposition, especially from the supreme court.
Why was there opposition to the Second New Deal?
In November 1936, Roosevelt won re-election and won every state with the exceptions of Maine and Vermont. The Republicans actually lost seats in Congress. The fact that Roosevelt won re-election meant that the public supported him and the New Deal.
Before 1936, Roosevelt was in conflict with the courts. On ‘Black Monday’ in 1935, several legal decisions had gone against the New Deal. The Supreme Court struck down the Farm Mortgage Act and ruled that aspects of the National Recovery Administration were unconstitutional. The Supreme Court contained several conservative judges who had been appointed in the Republican dominated 1920’s. the Chief Of Justice, Charles Evan Hughes had been the Republican Presidential candidate in 1916. He was however, generally regarded as fair and impartial. The actions of the courts in 1935-1936 threatened to undermine much of Roosevelt's New Deal policies. 
After his election victory, Roosevelt decided to carry out a direct attack against the powers of the Supreme court. In February 1937, Roosevelt announced plans for new laws allowing him to appoint up to 6 additional judges to the Supreme Court, for every judge over the age of 70. This bill caused outrage among Republicans and conservatives; it also upset many democrats as well. Roosevelt was criticised for bringing politics into the Supreme Court, which was supposed to be above politics. Roosevelt stubbornly persisted with his plan, even after he was warned it would fail. It lost him a lot of political support. It was also unnecessary as between 1937-1943 death and retirement gave Roosevelt the chance to appoint new judges.
Roosevelt face more problems in 1937-1938 as the economy again, ran into trouble. This led to an increase in opposition from those who blamed him for the ‘Roosevelt Recession’. He also faced increasing pressure from isolationists who were attacking him over his foreign policy. Roosevelt was no longer as dominant as he had been after the 1936 election.
How serious was opposition to the Second New Deal?

What was the impact of the New Deal?
The Great Depression never really ended until the mobilisation of the economy for war. In 1939-1940, industry was boosted by the needs of Britain’s war effort. The USA committed itself to rapid rearmament. From December 1941, direct involvement in the war brought full employment and maximum industrial production. The beneficial effects of the war lasted far beyond its end in 1945and laid the foundations for a generation of post war prosperity.
Many people attacked Roosevelt at the time for greatly increasing state intervention. Critics argue whether the New Deal was radical or socialist enough.
How successful was Roosevelt in his fight against organised crime?
There is a wide gap between the myths and realities of the fight against crime in the 1930’s. 
According to the myths, organised crime was confronted and defeated by heroic figures such as Elliot Ness and his ‘untouchables’ and J. Edgar Hoover and the ‘G-Men’ of the FBI. The downfall of Al Capone in 1931 and the deaths of leading gangsters such as John Dillinger were landmark events. By the end of the 1930’s, violent crime was widely reduced, and there were no spectacular shootouts like the assault on Capone's headquarters by the O’Banion gang in 1926.
In reality, there was no clear victory for law enforcement; organised crime was still powerful. Corruption in the police and local government remained widespread. What appeared to be victories for law enforcement were often explained by the fact that bootlegging was no longer an issue after the end of Prohibition in 1933. During WW2 organised crime got into partnership with the federal government. ‘Lucky’ Luciano and his mafia networks worked closely with the US Navy Intelligence during the war against fascist Italy.
Many factors made it difficult for Roosevelt to successfully fight organised crime:
· The amount of money available to law enforcement was a fraction of the amount available to criminals and gangsters.
· Bribery and corruption amongst law enforcement meant that criminals could be protected.
· Most crimes including robbery and murder came under state law; this meant that criminals were safe once they had crossed state lines.
· For many Americans the enforcement of Prohibition was very unpopular and they had a secret admiration for well-known gangsters.
What role did J. Edgar Hoover and the rise of the FBI play in the fight against organised crime?
At the start of Roosevelt's Presidency in 1933, his Attorney General, Homer Cummings, declared a ‘war on crime’. Cummings was reacting to public opinion that crime was undermining society. The public perceptions of crime were highlighted by exaggerated newspaper articles and media. Films such as ‘Little Caesar – 1931’, ‘The Public Enemy – 1931’ and ‘Scarface – 1931’ were about gangsters. The USA needed someone to lead the fight against organised crime; the stage was set for J. Edgar Hoover.
 J. Edgar Hoover started his career at the Justice Department in 1919 and he took part in the Palmer Raids of 1920. From 1921, he was Deputy Director of the Bureau of Investigation, and later acting Director. Hoover was systematic and an effective bureaucratic organiser, he did a lot to improve discipline and training. He exploited new scientific methods and opened a forensic laboratory in 1932. Hoover was highly effective in winning political support and financial backing. In 1934, the Bureau of Investigation got jurisdiction over a large range of interstate crimes such as car theft and kidnapping. In 1935, Bureau of Investigation became the Federal Bureau of Investigation with J. Edgar Hoover as its Director; a job he held for 37 years.
Hoovers reputation was improved by a series of successes against high-profile criminals such as ‘Machine Gun’ Kelly – 1933, John Dillinger – 1934, ‘Ma’ Baker – 1935, and Alvin Karpis – 1936. All these successes were backed by a press campaign by William Randolph Hearst’s newspaper empire and Hollywood. There was also a rush of films glorifying ‘G-Men’, law enforcement officers and state prosecutors. The FBI benefited hugely from Hoover’s publicity machine and kept a high reputation in the eyes of the American public. This continued throughout the war years and into the 1950’s. There were several TV programmes that promoted the FBI.
 In the 1960’s, the FBI’s reputation came under attack. Hoovers critics said men like Dillinger were individuals and that Hoover had done little to stop organised crime. Hoover remains a controversial figure, accused of cutting civil liberties, bending the truth to exaggerate his success and blackmailing leading politicians by holding secret files. On the other hand, he built the FBI into a large and efficient machine. 
When Hoover died in 1972, newspaper columnist Jack Anderson, who had often criticised Hoover, wrote: 
 ‘J. Edgar Hoover transformed the FBI from a collection of misfits and hangers-on into one of the world’s most efficient and formidable law enforcement organisations. Under Hoover’s reign, not a single FBI man ever tried to fix a case, defraud the taxpayers, or sell out his country.’
Why was Prohibition repealed?
Prohibition came to an end in 1933 because there was a massive shift in public and political opinion. Millions of Americans became convinced that the morals behind Prohibition were wrong and that they were a key reason why prohibition failed and why organised crime grew. The shift in public mood was not sudden; there had always been substantial support for the ‘wets’.
By 1933, most people were prepared for change. Some, often known as ‘moists’ wanted moderation of the law rather than an outright repeal. Congress tried to pass a compromise with the Blair Act but political opposition was too strong. In the period between Roosevelt's election and his inauguration, Congress passed the Twenty-First Amendment in March 1933. Over the following months, the repeal was validated by individual states. Once 75% of states had done so, Prohibition was dead.
The Impact Of The Second World War On The USA
From Isolationism To World War
Why was America isolationist for much of the 1930’s?
From 1920-1940, most Americans had supported a policy of isolationism. Some were pacifists, who were opposed to any and all wars. Many however were nationalists who were keen to promote American power in the west but who were against involvement in Europe. They felt that the USA should follow a policy of neutrality, putting American interests first. All three Republican Presidents – Harding, Coolidge and Hoover – were happy to accept Harding’s view that:
‘We seek no part in directing the destinies of the world’.
America’s foreign policy could never be completely isolationist. In 1921, the USA hosted the Washington Naval Conference; this was to deal with naval disarmament and the Open Door Policy in China. American financiers were also involved in restructuring Germany's war debt, using the Dawes Plan of 1924 and the Young Plan of 1929. In 1927-1928, Frank B. Kellogg and Aristide Briand devoted a lot of time promoting the Kellogg-Briand Pact of 1928. In this 60 nations of the world, signed an agreement to stop all wars. The national mood however, remained hostile to foreign commitments.
Some Americans believed isolationism was a mistake, in the 1920’s the national mood was not in favour of internationalism. In the 1930’s, Americans were pre-occupied with domestic issues at home and the Great Depression. Public opinion regarding the rise of dictatorships in Europe was that they were a distant problem. They believed that disengagement from Europe was for the best. There was a strong pacifist movement that fed the belief that Americans had been duped into WW1 in 1917. They believed the post-war peace settlements were unfair and not worth fighting for. The attitude was what led to the failure of the League of Nations. The League of Nations failed to take any decisive action against Japan when they invaded Manchuria in 1931 and when Italy invaded Abyssinia in 1935.
When Roosevelt became President, he did not immediately make any changes to his policy towards Europe. He did however; quickly change his policy towards Latin America. ‘Dollar Diplomacy’ (Using a countries financial power to secure economic domination. America did this in Latin America and China) was out and in came the ‘Good Neighbour Policy’ (Non-intervention and non-interference in the domestic affairs of Latin America). Roosevelt and his administration hoped this new policy would create new economic opportunities in trade and to maintain Americas influence over Latin America. However, many governments in Latin America were not convinced. The Platt Amendment – 1901 (Protecting Cuba’s independence from foreign intervention) was repealed in 1934. 
Foreign policy was at the back of most politicians’ minds, they were preoccupied with the Great Depression and the New Deal. As a result, America’s isolationism grew even stronger. Congress passed Neutrality Acts in 1935, 1936, 1937 and 1939. The aim of these acts was to prevent the USA from being drawn into any war. Therefore, a ban was placed on trading arms to countries fighting a war. The 1939 Act however, relaxed some of the restrictions outlined in the first 3 acts. This was because of the threat posed to Britain by Nazi Germany.
In 1937, Congress proposed the Ludlow Amendment this changed the Constitution. The Ludlow Amendment proposed that ‘the government was forbid from declaring war without first gaining the consent of the people’. In October 1937, Roosevelt made his ‘Quarantine Speech’. The aim was to persuade peace-loving nations to sever all ties to aggressive countries. Roosevelt was aiming his speech at Nazi Germany, Fascist Italy and Militaristic Japan. Roosevelt was however, still conscious of the isolationists in Congress and the country itself.
When war broke out between Japan and China in 1937 and war in Europe in 1939, Roosevelt and his administration were in a difficult situation. Roosevelt felt he needed to respond to the situation by increasing American preparedness to keep his options open. In 1938, American isolationism was strengthened by the fact that Britain and France were following a policy of appeasement (doing everything possible to avoid war with Nazi Germany). This policy reached its peak in September 1938, when Hitler met leaders of Britain, France and Italy at the Munich Agreement. Six months later, Hitler tore up the Munich Agreement and German troops entered Prague. From March 1939, there was an increasing danger of war in Europe. If war broke out in Europe, it meant that Roosevelt would have to confront the isolationists in America.
What was American foreign policy aims in the Far East?
From 1890 onwards, American policy in the Far East had always caused some conflict. It was America’s main aim to maintain the open door policy. At times, this led to friction but relations were stable. However, with the rise of the militaristic regime in Japan in the 1930’s, America became worried, especially when Japan invaded Manchuria in 1931. 
Why did Japan pose a threat to America in the 1930’s?
When Japan’s conflict with China became a full-scale war in 1937, followed by the Japanese proclamation of a New Order in Asia, American attitudes and policies became openly anti-Japanese.  There was also alarm at the growing links between Japan and European dictators. Neither Britain or America wanted confrontation with Japan but both were worried that Japanese expansion would go further. At first, Japanese expansion seemed likely to be directed towards the west against the Soviet Union. In 1939, there was a series of major battles in Mongolia. The Japanese came up against the Soviet Union using unexpectedly strong resistance.
After 1939, Japan left the soviet union alone. Japanese expansion then turned southwards instead, seeking control of the Dutch East Indies, home of vital natural resources. They also looked towards Asian colonial territories of Britain and France. Japan was encouraged by the German military to be aggressive. When France and the Netherlands were invaded, their colonial empires in Asia were left vulnerable. Japan had ambitions to control the natural resources in French Indo-China and Dutch East Indies. It was America’s policy to prevent this without declaring war. Japan fortified the Marshal Islands, which strengthened communications between Hawaii and the Philippines. The September 1940, Japan signed the Tripartite Pact with Germany and Italy. The Tripartite Pact did not mean America would definitely go to war with Japan but Roosevelt was concerned as it was as it was an urgent threat. 
Why did the situation in Europe pose a threat to America?
By the summer of 1940, America’s concerns about war in Europe grew even stronger. From the beginning of the war in 1939, there was no doubt that America would aid Britain against Germany. Although American public opinion was set on neutrality, it was hostile to fascist dictators. Therefore, Britain was able to acquire war goods as long as she was able to pay for them.  In November 1939, Roosevelt persuaded Congress to pass a new Neutrality Act (known as the Cash and Carry Act) to lift the arms ban previously imposed and to allow shipments of arms to Britain.
Roosevelt began to increase America’s preparedness. In January, he asked Congress for $2 billion to increase defence spending; two further increases boosted the total to $10 billion by the end of the year. When France fell to the Nazis in June 1940, the situation in Europe became urgent. Britain was on the verge of collapse. 
Roosevelt needed to make a judgement on how American interests would be affected if Britain were to collapse, and if Europe were to be dominated by Nazi Germany. Before responding the Britain request for aid, Roosevelt hesitated for several weeks whist considering alternative views on Britain's survival. Roosevelt also received alarming news that German scientists were planning to build atomic weapons.
How did Roosevelt respond to these ‘threats’?
Roosevelt eventually proposed the Destroyers for Basses agreement, lending Britain 50 spare American warships in return for 99-year leases on 8 British basses in Newfoundland, Bermuda and the Caribbean. At first the deal shocked Churchill and most of the British government, who saw it as exploiting Britain’s unstable situation. Roosevelt argued that he needed something in return to satisfy America isolationists.
He also launched a programme researching nuclear fission. This became known as the ‘Manhattan Project’, which led to the development of the British-American atomic bomb in 1945. In September 1940, Roosevelt finalised the Destroyers for Basses deal with Britain; and drafted in military conscription.
How and Why did Roosevelt increasingly help Britain?
From the moment he became prime minister, Winston Churchill was pressing Roosevelt for emergency aid. He made a point that Britain needed more warships. This was that start of the relationship between Roosevelt and Churchill that would influence American foreign policy for the rest of the war.  During the war, propaganda promoted the myth about the ‘special relationship’ between Roosevelt and Churchill. According to this, the two leaders became close instantly. The reality however, was very different. Roosevelt was unsure of Churchill's motives and abilities. Roosevelt needed to make a judgement on how American interests would be affected if Britain were to collapse, and if Europe were to be dominated by Nazi Germany. Before responding the Britain request for aid, Roosevelt hesitated for several weeks whist considering alternative views on Britain's survival.
Roosevelt eventually proposed the Destroyers for Basses agreement, lending Britain 50 spare American warships in return for 99-year leases on 8 British basses in Newfoundland, Bermuda and the Caribbean. At first the deal shocked Churchill and most of the British government, who saw it as exploiting Britain’s unstable situation. Roosevelt argued that he needed something in return to satisfy America isolationists.
Why was the 1940 Presidential Election controversial?
The 1940 Presidential election was controversial because at the last minute Roosevelt decided to run for a third term as President. He did this because he believed that the other candidate were unsuitable. Roosevelt promised American isolationism saying, ‘your boys are not going to be sent into any foreign wars’. This speech helped Roosevelt win the election by more than 5 million votes. The American people had faith in Roosevelt; he had helped bring the country out of the great Depression using the New Deal. He gained support from trade unions, Democrats in the south and African-Americans in the north. Roosevelt's policies became much more interventionist in the weeks and months after his re-election. In December 1940, he told the White House press conference about the need to support Britain in WW2. Britain needed more money for vital war goods. Most of this information was only given to Roosevelt after his re-election, but many believed he already knew.
The USA & The Second World War
Why did American isolationism end?
Britain needed more money for vital war goods. As a result, in early 1941, the Lend-Lease Act was established. This scheme meant that the USA supplied Britain, the Soviet Union, France, China and other allied nations vital war materials. The fight against this was the last stand for the isolationists of America. In January 1941, Roosevelt proposed lending Britain the resources she needed. This gave Roosevelt massive power, it authorised him to ‘sell, transfer title to, exchange, lease, lend or otherwise dispose of’ any defence material considered vital to the defence of the USA. Congress was asked for roughly $7 billion to finance the Lend-Lease Act. Despite actions and efforts of American isolationists, Congress passed the Lend-Lease Act on March 11th 1941.
Why did America enter WW2?
After the German invasion of the USSR in June 1941, Britain had some breathing space. Churchill took this opportunity to host a meeting with Roosevelt at Placentia Bay, Newfoundland. The result of this meeting was the Atlantic Charter – a statement of joint war aims. The links between Britain and America were almost an alliance, with American actions becoming closer to direct participation in the war. Public opinion also showed that they were becoming increasingly aware of the war situation. There was a lot of public opposition to involvement in the war. Even in late October 1941, after the sinking of US patrol ships by German U-boats, only 17% of the public were in favour of an American declaration of war on Germany. After isolationist Charles Lindberg made a speech attacking Roosevelt's policies, public opinion changed. Lindberg’s speech was anti-Semitic, alienating many of those who had previously supported him. Many communists and socialists who had opposed intervention now wished to support the Soviet Union. 
When the declaration of war came, it was not because of Churchill's diplomacy or the German U-boat campaign; it was because of the Japanese attack on Pearl Harbour. Armed conflict was always likely between Japan and the USA.
Japan was in desperate need of raw materials such as oil and rubber. After Hitler's victories in Europe, Japan was tempted to seize what she needed. It would seize French Indo-China, Dutch East Indies or British Malaya and Burma. If and when Japan did this, America was not going to sit by and let it happen. From America’s point of view, China was all-important. By the summer of 1941, Japan had 2 million troops on China’s mainland. Japan would never negotiate to remove her troops and the USA would never negotiate Japanese dominance.
 It was America’s policy to avoid war using economic sanctions against Japan. All Japanese imports were banned with the exception of scrap iron and oil. This pushed Japan into a corner. Tensions between Japan and America became more intense in July 1941 when Japanese troops occupied French Indo-China. Roosevelt was sure that this was a prelude to a Japanese attack on Soviet Russia or the Dutch East Indies. Roosevelt did not know that the Japanese had already ruled out Soviet Russia and were planning to attack the Dutch East Indies.
The Japanese realised that they must neutralised British naval forces in Singapore and US forces in Hawaii. At a meeting on November 5th 1941, Japanese Prime Minister Tojo and his government allowed America 20 days for last chance negotiations. If this were to fail, Japan would go to war with America without any warnings. There was no possibility of negotiations succeeding. Japan demanded that America begin exporting oil again, but they were unwilling to release China. At the end of November, the Japanese Naval Task Force set out on its way to the American battle fleet stationed at its base in Pearl Harbour, Hawaii.
The Japanese attack on Pearl Harbour was what forced the USA to enter WW2. Before December 7th 1941, many Americans viewed the war in Europe as a distant reality.
What was the effect of Japan’s attack of Pearl Harbour on the people of America?
 A task force of Japanese ships and aircraft carriers set sail on November 26th, and managed to sail completely undetected to within 250 miles of Pearl Harbour. On December 7th, aircraft carriers launched wave after wave of aircraft with carried torpedoes and bombs.  At the time, Pearl Harbour was packed with 70 warships and 8 battleships. The US forces at Pearl Harbour were completely unprepared, despite warnings that war might break out.
The attack came at roughly 8am, over the next hour Japanese aircraft had managed to sink 6 battleships and damage the other 2; 7 other warships were destroyed and 300 aircraft stationed at nearby air field were destroyed. The Japanese attack was not a complete success; US aircraft carriers and cruisers had been out at sea at the time of the attack and were not destroyed. Those ships that were not destroyed would later play a key role in the naval war in the Pacific. US industrial power soon ensured that many of the damaged vessels were quickly repaired and returned to active duty. It also meant that new ships were manufactured quickly. 
The attack on Pearl Harbour was a tactical success for the Japanese. America forces were taken by surprise and suffered heavy losses. As a result, on December 8th 1941, the USA declared war on Japan. Almost simultaneously, Hitler declared was on the USA. Without any vote being taken in Congress, the USA was fully engaged in a world war, allied to both Britain and the Soviet Union. Most importantly, the Japanese attack on Pearl Harbour, united the people of America in the need of supporting the war. It was this war that the USA had tried so hard to stay out of, that turned the USA into the superpower she is today.
How did America’s entry into WW2 help turn the tide of war?
The Far East
It took time to build up the American war effort. For much of the 1942, the Allies were on the defensive. The USA was attempting to halt the Japanese advances in the Pacific. The Soviet Union were fighting back the German advances and attacks in the southern oils fields. Britain was mainly concerned about not losing the battle of the Atlantic. It took until 1943 before the USA could finally move onto the offensive.
The war in the Pacific began with a series of defeats, including the withdrawal of troops from the Philippines and Guam.  Britain lost most of its territories in the Far East, including Hong Kong and it had to surrender its great naval base in Singapore. There were fears that Japan would conquer British India. The American naval fleet had been badly weakened by the attack on Pearl Harbour and took time to recover. There were two great aircraft carrier battles in 1942, ‘The Battle of the Coral Sea’ and ‘That Battle of Midway’. These turned the balance of sea power back towards the USA.  The USA made considerable contributions in aiding the British forces to defend Burma and India as the Japanese drew closer.
America supported the nationalist regime in China. American aircraft had kept supply lines open to western China by flying over the Himalayas, and American troops had supported them on the ground. Although victory was a long way off in November 1943. American forces were preparing their campaign of island hoping for the liberation of the Pacific islands and the invasion of Japan.
The war in the Pacific could have been won earlier but high priority was given to the war in Europe in 1942. This was because of the influence of the Soviet Union and the British. 
Europe
America and Britain's ‘special relationship’ was at its strongest between late 1941 and early 1943. This was because of the increasingly personal link between Roosevelt and Churchill. It was also because the of key personalities such as harry Hopkins, W. Averell Harriman and General George Marshall. Churchill also decided to share all British secret intelligence with Roosevelt and the Americans. As the war progressed, the partnership became less equal and became dominated by Roosevelt. In the early stages of war, there were significant policy disagreements between Churchill and Roosevelt.
There were two urgent concerns for allied war planners:
· The struggle to defeat U-boats and to keep the route across the Atlantic secure from attack. Shipping losses were estimated at 8 million tonnes per month, this threatened the whole allied war effort.
· How to give support to the soviet union, this was finally done by sending supplies and diverting German forces away from the eastern front.
American commanders believed an attack on Nazi-occupied Europe would be possible in 1942 or at the latest 1943. Britain strongly disagreed, emphasising the practical difficulties. The main invasion of 1943, was of Italy something seen as indirect and too cautious. Stalin was critical about his Allies ‘delay of opening a second front’. The invasion of western Europe was delayed until June 1944. By this time, the Allies had complete air superiority.
The battle of the Atlantic was not won quickly either, shipping losses still remained high until May 1943, when new technology was used. Code breakers could now intercept U-boat signals, long range aircraft covered the ‘Atlantic Gap’ and U-boats could now be seen using airborne radars. The hunters became the hunted.
The war in Europe had turned decisively by the summer of 1943. After the massive German defeat at Stalingrad, the Soviet Union were ready to drive the Germans back to Berlin.  The United States Army Air Force (USAAF) was able to begin a campaign of mass daylight bombing on German factories and cities. Italy was knocked out of the war, and the ultimate defeat of Germany and Japan was already certain. Attention soon turned towards planning for post-war peace.
The Road To Victory
The final defeat of the Axis powers was not until 1945 when Germany and Japan were forced into an unconditional surrender. The D-Day landings had been planned for 1943, but did not actually take place until 1944. Even after the Normandy landings it took almost a year for allied forces to reach Berlin. Recapturing the Pacific Islands was a long and costly mission. In the spring of 1945, American military planners estimated that the final invasion of Japan would take months and risk 1.4 million lives.
The achieve victories the USA became a vast war machine:
· The US army mobilised 5 million soldiers. 
· The ammunitions industry became the largest in the world.
· Air power reached its peak; this led to the mass bombing of Germany and Japan.
· Shipbuilding for the navy and merchant fleets produced ships faster than German U-boats could sink them.
American influence became more and more dominant as the Allies went onto the offensive. There was a decline in British influence, but this was well hidden by Churchill’s personality. There was no question on who was calling the shots. In late 1943, Dwight D. Eisenhower was appointed Supreme Allied Commander Europe (SACEUR) this reflected American leadership of the Allied war effort.
When final victory was achieved in the summer of 1945, American power was dominant. This dominance was enhanced by the possession of atomic weapons. The American possession of atomic weapons changed the balance of power within the Grand Alliance. The fact that the Americans had been the first to build an Atomic Bomb itself was proof the USA could out-spend any country in the world.
What impact did WW2 have on American society?
The war undeniably brought victory and economic prosperity, but the path of victory was not smooth. For many Americans it brought tragedy, hardships and dashed hopes. The Japanese attack on Pearl Harbour was a turning point in American history. After the USA declared war on Japan and Germany, there was national unity that lasted throughout the war and into the post-war era.
The isolationist America First committee disbanded and declared their full support for the war. Roosevelt faced very little political opposition in either Congress of the country itself. As the needs of the war economy grew, so did the role of the federal government. Before the war, America was rated only 20th in the league tables of the world’s armies.
In 1942, it was necessary to call up, train and equip an army of millions. It was also necessary to build thousands of ships, both naval and cargo. This was in order to fight Japan and to replace the huge losses of merchant ships in the ‘Battle of the Atlantic’. It was important to expand American industry to provide the materials needed for war by America and her Allies.
America also made plans to invade Nazi-occupied Western Europe as soon as possible. Between December 1941, and August 1945, the American contribution towards the defeat of Nazi Germany was staggering. Although America fought most of the war in the Pacific, Roosevelt gave priority to the fight against Nazi Germany. He did this by supporting Britain in protecting convoys across the Atlantic and supporting the Soviet Union. The decision was not well received by navy commanders, who wanted more resources to fight the war against Japan.
After the war, Stalin gave his verdict on the Allied victory over the Axis:
‘what the British gave was time, the Americans gave money and the Soviet Union gave blood’
This stressed how the soviet people had suffered vast casualties, estimated at 27 million whereas; the USA had lost far fewer lives and had never been invaded. This was true. The USA was indeed the ‘Arsenal of Democracy’ and without the USA’s industrial input the war could not have been won so quickly by 1945. That fact made it certain that the USA would play a key role in the post-war peace settlements and the post-war world.
The experience of war between 1941-1945 was different for America. Outside the USA war brought mass destruction, massive casualties and serious economic hardship. Millions of Europeans faced mass bombing, food shortages, rationing and occupation by foreign armies. Million died and millions more became refugees. None of this happened to the people of America. For many, military or civilian, the second world war was ‘a good war’.
In the USA there was very little rationing and the lights were never switched off. There was full employment and standards of living increased. The Americans found living in wartime better than the people of other countries. There was a strong national mood of unity and little criticism of the government. However, casualties among Americans were not small. Half a million died and more were wounded. Total casualties were far less than those of Japan, Germany and the Soviet Union. No American cities faced the destruction that Hamburg (1943) and Tokyo (1945) did.
The most important impact of the war was the total mobilisation of the economy. It is often claimed that it was not the New Deal that pulled America out of the Great Depression, but the second world war. In 1940, unemployment had stood at 8 million, during the war years however; there was full employment with shortages at times, especially in agriculture. The needs of the armed forces took over the economy. Millions of new jobs were created because of the need to fill jobs by those in the armed forces. The motor industry switched from making cars, to making trucks and tanks. Mass production methods were maximised, with new techniques requiring huge factories and a less skilled workforce. By the middle of the war, aircraft were being produced at 1000 a day.
During the war consumer spending increased by 20%. Although there was rationing people had enough to eat and the gap between the rich and the poor narrowed. For many, life was much better than the 1930’s. There was also a surge in entertainment. Radios were common in most homes; this provided quick and widespread news of the war. After the attack on Pearl Harbour, Hollywood films did a lot to raise public morale and get public support for the war effort. The Office of War Information (OWI) was set up by the federal government to co-ordinate film propaganda in 1942. There were many documentaries such as, ‘Why We Fight - The Battle of Midway’. Hollywood stars Clarke Gable, Henry Fonda and James Stewart became high profile recruits to the armed forces. Feature films reinforced patriotic messages. Action films dealt with the battles in the Pacific, ‘Mrs Miniver – 1942’ ‘Casablanca – 1942’ ‘Meet Me In St. Louis – 1944’. These influenced national mood, radio and popular music also had a big influence.
The influence of trade unions was also increased. The AFL and Congress of Industrial Organisations (CIO) grew much stronger. Pressure was put on employers to recognise trade unions (an issue that had caused civil unrest in the 1930’s). the CIO committed itself to a no-strike policy and accepted government wage levels. Young men drafted into the armed forces left their homes for the first times. This increased social mobility. Large numbers of agriculture workers including African-Americans moved to the cities to take available factory jobs. Women were employed in the munitions industry and parts of the economy previously ‘men only’. By 1944, 36% of the industrial workforce was female. This raised awareness of racial and gender discrimination. 
The CIO and United Auto Workers (UAW) had to face ‘hate strikes’ by white workers in Detroit. There were similar problems in other industries including steel and transport. The government made an effort to stop this by setting up the Fair Employment Practices Commission. Some CIO unions attempted to stop discrimination against African-American and women workers. The government produced propaganda posters featuring ‘Rosie the Riveter’; she encourages women to fill in for men whilst they were away fighting. The propaganda reflected real life.  
It is difficult to completely assess social change during the war. Although shifts took place, they were not permanent. In 1945, women left their wartime jobs voluntarily and resumed their traditional roles. The efforts to keep women’s pay rates high were not to produce gender equality but to keep them high for the men returning from war.
The myths of war covered up the reality. Few heard about the ‘hate strikes’ or racial tension between armed forces units. Beneath the surface, there was a black market, profiteering and criminal activity.
The War and Japanese-Americans
The treatment of Japanese-Americans was particularly poor. Half the population of Hawaii and 1% of California were Japanese. Even before the attack on Pearl Harbour the Japanese were discriminated against. The Immigration Acts of 1924 and 1927 deliberately cut back the number of Japanese immigrants. After Pearl Harbour there were stories of the Japanese-Americans helping the Japanese government. Many immigrants were rounded up and sent to temporary internment camps. A permanent camp was set up at Manzanar, California. Conditions in these camps were poor and this led to riots. One Supreme Court Judge expressed, ‘the government’s policy bears a melancholy resemblance to the treatment of the Jewish race in Germany’ Judge Murphy knew nothing of the death camps or Holocaust.
Many Americans were concerned about the treatment of the Japanese-Americans. Congress tried to ease the nations guilty conscience in 1948 by awarding almost $40 million in compensation to those affected. Much later in 1988, further legislation provided additional compensation and a delayed apology.
The War and African-Americans
When the war began there was still a lot of discrimination. A spokesperson for the Standard Steel Corporation of Kansas City said ‘we have not had a negro worker for 25 years, and were not going to start now’. Trade unions continued to ban African-Americans from membership. In the armed forces, African-Americans were segregated and rarely used in combat.
In 1925, A. Phillip Randolph set up an all-black trade union named ‘The Brotherhood of Sleeping Car Workers’. In June 1941, he organised a protest march to Washington, D.C by 100,000 African-Americans, demanding that the President issue an executive order to ban racial discrimination in the armed forces and defence industries. At the time the protesters were seen as radical, even by other African-Americans. Democratic party leaders especially Fiorello La Guardia (Mayor of New York) persuaded Roosevelt to pass the order. He issued Executive Order 8802 stating that:
‘There shall be no discrimination in the employment of workers in defence industries or government because of race, creed or color, or national origin. Employers and labour unions have the duty to provide the full and equitable participation of all workers in defence industries’.
The march was called off, and Roosevelt's order was seen as an important victory for Randolph and the rights of African-Americans. During the war there was an increase in the membership of the ‘National Association for the Advancement of Colored People’ (NAACP) and the ‘Committee of Racial Equality’ (CORE). The impact of WW2 led to advances in the lives of African-Americans, but there was still racial tension. In 1942, there were racial disputes in Texas, Detroit, Baltimore and LA. In 1943, there was a riot involving 100,000, 34 people were killed. There were also racial disputes at army training camps and among US soldiers fighting overseas. The army became so concerned; they commissioned Hollywood director, Frank Capra to make ‘The Negro Soldier (1941)’ it was intended to reduce racial prejudices.
What divides existed in the Grand Alliance?
In the period after the war and during the negotiations that followed, there was tension between the Allies. The partnership of the Soviet Union and the West was bound by one thing, the hatred of Hitler. There were also ideological differences between the Soviet Union and the west. Once Hitler began to lose power, there was no longer a reason for the west and the Soviet Union to carry on their partnership. The main divided was between Stalin and the leaders of the west. There were also divisions between Britain and the USA, some were traditional and others were personality clashes. Roosevelt and Churchill differed in their approach to Stalin. Roosevelt believed he could negotiate with Stalin. Churchill on the other hand, believed he could just confront him. These tensions played a key role in the post-war peace conferences. The peace conferences took place between January 1943 and July 1945.
What were the objectives of the main wartime and post-war conferences?
There were three main wartime and post-war peace conferences, Tehran, Yalta and Potsdam. Before Potsdam, the wartime summit meetings were focused on winning the war and planning for its aftermath. At Tehran, the decision was made to demand and unconditional surrender from Germany; this was done to reassure Stalin that there would be no separate peace. The Yalta peace conference in February 1945 was mostly concerned with agreeing post-war division of Europe. However, one key issue was the involvement of the Soviet Union in the defeat of Japan. In 1945, American influence was similar to ‘Wilsonism’ seen in 1919. The difference being that America was going to be permanently involved in world affairs.
The Potsdam peace conference took place in August 1945, involving Roosevelt’s successor Harry S. Truman, Churchill and Stalin. Truman had to negotiate with Stalin over liberated eastern Europe; he also had to end the war with Japan. Negotiations were slow and marked by deep distrust Truman divided opinion. His admirers praise him for standing up to Stalin. His critics argue that he was unnecessarily provocative and pushed Stalin to make compromises.
During Potsdam, Truman received news that a successful test of the atomic bomb had taken place. This was kept secret from Stalin, be he knew. Shortly after the Potsdam conference the war with Japan was brought to a sudden and abrupt end after America dropped two atomic bombs; one on the city of Hiroshima and the other on the city of Nagasaki. American possession of the atomic bomb tipped the balance of power and left Stalin feeling vulnerable.
The Potsdam peace conference was inconclusive and no ‘final peace’ treaty to end WW2 took place until 1990. Because there was no final post-war settlement, the provisional agreements made at Yalta took on real significance.
What are the different historical interpretations of the Yalta conference and the role Roosevelt played? 
the main objective of Yalta was agreeing post war division of war-torn Europe. The conference was marked by Churchill and Roosevelt's differing attitudes towards Stalin.
Historians disagree about Roosevelt. Some accuse him of being the ‘man who lost the peace’ accusing him of failing to stand up to Stalin and sacrificing eastern Europe to a future of domination by the Soviet Union. Defenders of Roosevelt view his policy as a realistic one, especially in the circumstances of February 1945. However, when Roosevelt arrived at Yalta he was a dying man, he died shortly after the conference. Therefore, nobody knows if he would have been able to make the most of the post war peace if he had lived long enough.
What was the impact of the Atomic Bomb?
The second world war was a scientific war. Winning the war meant winning the race for the best technology, the fastest aircraft, the best radar equipment and the best methods of code breaking. One of the Allies greatest fears was the Nazi Germany would develop atomic weapons first. Before the war, German physicists had led the world ironically the best were Jewish. Most of the Jewish scientists had left Germany before the war to escape persecution any many worked for the Allies. 
In 1939, atomic research was on a small scale but it was massively expanded after the USA joined the war in December 1941. America put huge amount of money towards the Manhattan Project. Britain was closely involved but only America could provide the financial support the project needed. The first successful atomic weapon test took place in Los Alamos, New Mexico, in 1945.
By this point it was already clear that the allied atomic bomb was not needed to fight the war in Europe. The American’s however, decided to use the bomb against Japan. It was claimed that the use of the atomic bombs on the cities of Hiroshima and Nagasaki in August 1945, shortened the war. However, the use of the atomic bombs by President Harry S. Truman was controversial. Some historians believe that the use of the atomic bombs was more to impress Stalin, than it was to make the Japanese surrender.
What evidence can you see of America’s increasing influence over the world?
The combination of American economic power and its monopoly over atomic weapons ensured that the USA would become a dominant world power. In 1945, unlike 1919-1920, America was ready to take up her role as a superpower.
· The USA was the occupying power in Japan, supervising the transition to democracy.
· The UN was formed, with strong American backing.
· From 1944 onwards, American financiers took the leading role in establishing new international economic and trade institutions. The World Bank and International Monetary Fund (IMF) were set up.
· By the end of 1945, the involvement of the USA in shaping the post-war world was an accepted fact.
Why did America become a superpower after WW2?
America became a superpower because the combination of American economic power and its monopoly over atomic weapons ensured that the USA would become a dominant world power. In 1945, unlike 1919-1920, America was ready to take up her role as a superpower.
Conclusion
Change
The most obvious change in 1945, of course, was the relationship between the USA and the rest of the world. In a sense, the ‘American century’ began in 1945. Through the intense news coverage of the war – radio and cinema newsreels – and through the experience of the millions of soldiers who had gone abroad to fight, Americans knew far more about the world outside and were more interested in what was happening there. Some isolationist ideas still persisted, but most Americans now accepted the USA’s world role.
The USA became the ‘world’s policeman’, politics and government in the USA changed significantly. There was now a massive standing army in peacetime. The air force became a key element in American military power, with the drive for new weapons and more advanced aircraft requiring massive spending. The needs of the armed forces led to huge industrial contracts. The armed forces, big industrial companies and the government were all combined together in what President Eisenhower in the 1950’s dubbed the ‘military-industrial complex’.
Along with this went the expansion of the so-called national security state. The powers of the Presidency and the National Security Council were increased. Agencies like the FBI and CIA were expanded, as well as diplomatic and cultural links overseas.
Delayed Effects
It is often claimed that fundamental social changes were caused, or at least accelerated, by the second world war. Many African-Americans served in the armed forces. Many others left the south to take up labour opportunities in the war industries. This also applied to women, who comprised more than one-third of the work force of the workforce during the war. However, these changes were mainly temporary.
For most of American society, at least on the surface, life returned to normal after the war. There was a long post-war economic boom, with increased ownership of houses, cars and consumer goods. The impact of the war on social change had delayed effects. The role of women, for example, had changed during the war, with many women taking on jobs formerly considered ‘men’s work’. After the war, employment patterns and social attitudes towards the role of women returned to pre-war models. The ‘gender revolution’ did not take place until the 1960’s.
Similarly, despite the fact that the war brought greater awareness and more social mobility to African-Americans, there were no immediate radical changes in their status. The south continued for a few more years along its separated, segregationist path until the mid-1950’s. at the time, the civil rights movement gained momentum from the Supreme Court judgement of 1954 that declared school segregation to be unconstitutional and a decade of protest began that culminated in the Civil Rights Act 1964 and the Voting Rights Act 1965.
Deep social changes did indeed take place in post-war American society, especially in the 1960’s. John F. Kennedy, a catholic, was elected President in 1960; a white southerner, jimmy carter, became President in 1976. Both achieved something that would have been thought unlikely in 1945. The 1960’s, and especially, 1968, brought about rapid changes in the lives of women and youth. The second world war no doubt contributed to these changes, but the social change was not sudden and complete after 1945 – and its causes can often be traced back to long before the conflict.
Continuity
Anyone observing the USA in 1945 would have recognised many things that had been there since 1890 or could easily have been predicted them. The political system, with its two-party structure, the role of the Supreme Court and the prestige of the Presidency was still much the same. So were the proud and idealistic self-image of the USA as a ‘melting pot’, and a land of freedom and opportunity.
The USA in 1945 had the same sense of abundance, as had been the case in 1890: unlimited space, unlimited natural resources, and unlimited economic potential. The nation had the same optimism and the same sense that the future was more dynamic than tired, war-torn ‘Old Europe’. Even the new role of the world’s superpower can be seen as following on from the ambitions of American imperialists in the 1890’s, such as Theodore Roosevelt and Alfred Thayer Mahan.
In post-war USA, continuity was deceptively strong, especially in social attitudes. The revival of the Republican right and the backlash against 1960’s liberalism by the so-called ‘silent majority’ during the presidencies of Ronald Regan and George W. Bush provided proof of this. 
[bookmark: _GoBack]Perhaps the USA was not ‘transformed’ between 1890-1945; it was more a case of fulfilling its natural destiny as the great new power of the western world.

Stock Market Collapse


Massive Lossses:
Little money for further investment.
Collapse in demand for goods.
Brankrupcies.
Rising Unemployment.


Collapse Of Credit:
Little money for investment
Severe credit squeeze.





Crisis Of Confidence:
People left shocked, betrayed.
Loss of confidence in governement and Big Business.
Loss of confidence in themselves. 




